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SI.No.

Part-A : Time : ! Hour/Marks : 50
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SCIENCE STREAM darken in OMR sheet.
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Part -B: Time : 2 Hours/ Marks : 50

(Part - A)
Time : 1 Hour] _ - [Maximum Marks : 50
Instructions :
1) There are 50 objective type (M.C.Q) questlons in Part A and all questions
are compulsory.
2) The questions are serially numbered from 1 to 50 and each carries 1 mark.
3) Read each question carefully, select proper alternative and answer in the
- O.MLR. sheet.
4) The OMR sheet is given for answering the questions. The answer of each
. question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @of the correct answer with ball-pen.
5) Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.
1) was old Geibel’s daughter.

EFE (20)

(A) Omega
(B) Alpha
(C) Olga

(D) Olma
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2)

According to the author Nicholans Geibel was a
(A) dancer '
(B) robot

(C) clock work dancer

- (D) mechanic

3

1)

3)

6)

7)

EFE (20)

poisoned men’s souls.

(A) greed - (B) envy
(C) jealous (D) unkindness

‘Cynical’ means
(A) cumning , (B) distrustful
(C) brave (D) awful

Mrinal Pande is an Indian
(A) television personality
(B) music composer

(C) stage artist

(D) film actor

Who bl_'oke the ‘Surahi’ first? .
(A) thedriver (B) Lali

(C) Babu (D) Massi

Pin money refers to

(A) money spent for pins

(B) woman’s dress allowance
(C) cost of pins

(D) woman’s pocket money

C-5
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8)

9

10)

11)

EFE (20)

Summer nights are lit up with apart from the stars.

(A) themoon (B) flashlight
(C) torches (D) fire flies

After writing those two happy words what does a young writer do?
(A) Stops writing

(B) Waits for intuition

(C) Continues eagerly

(D) Waits for some help

Letter writing becomes an easy task at . age.
(A) maturer age (B) oldage

(C) youngerage (D) childhood

Read the following stanza carefully and answer the question No. 11 and 12.

If you can dream - and

not make dreams your master
If you can think, and

not make thoughts your aim;
Ifyou can meet with

Triu'mph and Disaster,
And treat those two

impostdrs just the same;
If you can bear to hear

the truth you’ve spoken
Twisted by knaves to make

a trap for fools

What does the poet say about dreams?
(A) dreamsnottobe yoﬁr master
(B) - dreams should guide you in life
(C) dreams should be your master
(D) “dreams are passing fancies

C-5
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12)

Which are the two impostors?
(A) dream and thought

(B) triumph and disaster

(C) lieand hatred

(D) None of the above

13)

‘The High did not suspect it’. Identify the figure of speech.
(A) Antithesis | |

(B) Simile

(C) Metaphor

(D) Litotes

14)

15)

16)'

17)

EFE (20)

Troubadour hated

(A) fire (B) sorrow

(C) fame (D) love

Who is the subtle thief of youth?
(A) God (B) Time
(C) Poet (D) Nature

The poet asks all the grandmothers world over to take their place in the
of the world.

(A) Love (B) Leadership
(C) Sanity : (D) Humanity

According to the poet why are we created?
(A) tolive p_eacefuily

(B) tolead humanity

(C) toleadahappy life

(D) tobring up the next generation

C-5
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18)

19)

20)

21)

22)

23)

24)

EFE (20)

C-5

Where were the flowers seen?
(A) By theroadside

(B) Inthejungle

(C) Inthe garden

(D) Intheshop

Who is the heroic host of the interminable path?
(A) Traveller , (B) God
(C) Poet (D) Youandme

When a stone is in hand one experiences
(A) power - : - (B) success
(C) failure (D) regret

‘The wild swans at coole’ depicts symbolically the
(A) beauty ofnature

(B) autumn beauty

(C) transition of life

(D) aplacidlake:

‘But now they drift on the still water’ - the word ‘they’ refers to

(A) ducks ~ (B) cuckoo
(C) birds (D) swans
In Miss Ralston’s class have always carried the water bucket.
(A) theboys (B) the peons
(C) the girls (D) the teachers
Jonathan Livingston Seagull is a about a seagul! learning about
life and flight.
(A) story (B) fable
| (C) poem 7 (D) parody
5 (P.T.O0.)
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25)

26)

27)

P | | C-5
Where did the author work in Delhi?

(A) inaprivate firm ' (B) in anad agenby

(C) inaprivate collége (D) inabank

When did Ruskin Bond start writing for children? _ <
(A) Inthe 50s (B) Inthe 70s "
(C) Inthe 60s (D) In the 80s

‘Room on the Roof” - first novel of Ruskin Bond was written whén he was

(A) 16 ' - (B) 18

" (© 17 ®) 22

25)

1 have no doubt that I could find other boints. (Make it affirmative).
(A) Iwas doubtless thatI ¢ould find other points. - - |

(B) Iam without doubting that I could find other points.

(C) Iam sure thatI could find other points.

D) 1 have sure that I could find other points.

29)

30)

EFE (20)

R

Her sudden death was not a tragedy. (Add a question tag)
(A) wasn’tit? - . (B) won’tit?
(C) wasit? _ (D) couldit?

He heard a big bang. (Change the voice).
(A) Abigbanghad been heard by him.
(B) A bigbang was heard by him.

(C) A bigbang was being heard by him.
(D) A bigbang has been heard by him.
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31)

C-5

Otkatai is better than Ugadi. (Change the degree).

(A)

®)

32)

33)

34)

35)

EFE (20)

(©)
(D)

Otkatai is the best.

Ugadi is not so good as Otkatai.
Ugadi is the best. |

Ugadi is good as Otkétai.

Dictators free themselves but they enslave the people. (Make it complex).

(A)

(B)

©)

(D)

Inspite of themdictators freeing themselves they enslave the people.
The dictators free themselves and they enslave the pgople.
Though the dictators free themselves they enslave the pedple.

The dictators not only free themselves but they enslave the people.

When we reached the station, I scrambled on to the train. (Use No sooner).

(B)
(©)
D)

(A) No sooner did we reach the station than I scrambled on to the train.

No sooner do we reach the station than I scrambled on to the train.
No sooner we reached the station I scrambled on to the train.

No sooner did we reached the station I scrambled onto the train.

Whata 10vely partner he would make! (Make it assertive).

(A)
(B)
©)
)

He would make a very lovely partner.
He wouldn’t make a lovely partner.
He will make a lovely partner.

A very lovely partner he would make.

The boy looked into his mother’s eyes and asked the first question. (make it -
_ simple). ' '

(A)
(B)
(©)
D)

The boy looked at his mother’s eyes and asking the first question
The boy looking at his mother’s eyes when he asked the first question
The boy looking at his mother’s eyes and asked the first question

Looking at his mother’s eyes the boy asked the first question
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36) They not only knew how the thing was done from beginning to end but could
doit. (Begin with ‘Besides’) '

(A) Besides knowing how the thing was done from beginning to end they
could do it. :

(B) Besides their knowledge, they knew how to do the things.

(C) Besides their knowledge of doing it from beginning to end they could ¥
make it.

(D) Besides knowing how the thing was being done from begmnmg toend
they were doing it. '

37) He was behind because the count struck him with his whip. (Make it
compound).

(A) The count struck him with his whip so he was behind.
"(B) Though he was behind the count struck him with his whip.
(C) Hewasbehind and the count struck him with his whip.

(D) The counting striking him with his whip, he remained behind. - | _ ) }.\
38) The cricket page is beside the one.
(A) obituary '

(B) - business
(C) financial

‘(D) advertisement

39) To help get her out of the ,depfession, the author threw her faith B
into .
(A) yoga
(B) reading
. (C) sports
(D) writing

EFE (20) - | 8
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© 40) AslIlitthe ‘diya’ I thought of my
(A) father |
(B) brother
(C) mother
(D) sister

B Read the following passage and answer the question No. 41 & 42. -

Often when Miss Martha sat down to her chops and light rolls and jam and tea she
would sigh and wish that the gentle-mannered artist might share her tasty meal
instead of eating his dry crust in that draughty attic. Miss Martha’s heart, as you
have been fold, was a sympathetic one.

Questions :

41) Miss Martha would sigh and wish for
(A) the artist to come to her shop
(B) the artist might buy her food
(C) the artist might stop his meal
(D) the artist might share her tasfy meal

42) Whatkind of a heart did Martha have?
@ kind .

(B) passionate

(C) sympathetic

(D) gentle

- 43) Whatare the names of Prakash Padukone’s daughters?
"~ (A) Deepikaand Anita |
(B) Deepika and Anisha
(C) Deepikaand Arpita
(D) Anilaand Akhila

EFE (20) : 9 . | (P.T.0.



44)

45)

46)

47)

EFE (20)
[ Y

Flight Cadet Herojit Rajkumar Singh was given
in physical training. '

(A) Sports Insignia

| (B)V Silver medal

(C) Goldmedal

(D) Bronze medal

‘Imprimatur’ means

(A) Permission
(B) Order
(C) Opinion
(D) Message

Tschubukov paid rubles for Otkatai.

(A) Eighty
(B) Fifly
(C) Eighty five
(D) Twenty five

Why did the angel appear in front of the mother?

(A) to fulfil her ambitions .

-(B) to grant her request

(C) tohelp her infant son
(D) to help her in kitchen

10

for the best cadet

!
I
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48) Where did the éﬁgel appear to the mother for the first time? |
(A) Inthekitchen
(B) Inthe &onnitory
. - (C) Inthehall

(D) Inthelaundry room

B Read the following passage and answer the question No. 49 and 50.

- The human voice : It’s the instrument we all play. It’s the most powerful sound in
the world, probably. It’s the only one that can start a war or say ‘I love you’. And yet
many people have the experience that when they speak, people don’t listen to them.
And why is that? How can we speak powerfully to make change in the world?

49) Which is the most powerful sound in the world?
(A) Warcry
(B) Animél’s cry
(C) Thunder

(D) Human voice

50) What is the experience of many people when they speak? %
(A) People don’t hear them
B) Pedple don’t pay attentioﬁ to them
' ‘ o (9] Peoplé don’t listen to thf_:m

(D) People rebuke them

EFE (20) - 11 . - (P.T.0.)
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. SCIENCE STREAM
(CLASS - XII)

Time : 2 Hours] o [Maximum Marks : 50 !

Instructions : .
1) Write in a clear legible handwriting.
2) There are five sections in Part - B of the question paper and total 1 to 31
' questions are there.
3) All the questions are compulsory. Internal options are given.
4) The numbers at right side represent the marks of the questions.
S) Start new section on new page. :
6) Maintain sequence.

SECTION-A
W Read the following passage and answer the following questions. 12]

Thus the capitalist system has produced an almost universal ignorance of
how things are made and done, whilst at the same time it has caused them to be
made and done on a gigantic scale. We have to buy books and encyclopaedias
to find out what it is we are doing all day. '

1) What has the capitalist system produced?

2) - Why does the writer ask us to buy books and encyclopaedias?

EFE (20) | 12 | .
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H  Answer the following questions in about 35 to 7 sentences each: 4] -

3) How did Holmes refute each one of Watson’s deductions?

4). What are the qualities that Prakash Padukone wants to inculcate in his
daughters?

B Fillin the blanks with the help of the words given below. Write the answers only. [4]

(Complete, descend, warmth, primordial, course, distant, felt, breath)

. Ibreathedinthe __ 5  scene.lcould feelthe _ 6  fill my lungs, and
life 7 through me. I felt a 8 sense of contentment and
the __ 9  of quiet joy 10 upon me, like the mist.‘ghat drapes

the __11  foothills of the Himala)}as_. I 12  loved.

SECTION -B

B Answer the following questions in about 4 to 5 sentences each: [4]
13) List the people who were unaware of the poet being what he was?

1 4) How did the Troubadour bid farewell to his lady love? Where?

EFE (20) | 13 . ~ (TO)
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"~ ® Answer the following questions in about 5 to 7 sentences each: [6]
15) Can Miss Ralston be called a reformer? Why?
16) Who was Mr. Kapoor? Why did he want the pool to be filled in?

17) ‘Small towns are easier to observe’. Explain.

- SECTION-C

B Choose the correct meaning of the Idiom and rewrite the sentence. [3]

“‘*

-
18) As she gréw more familiar with the uncanny creature, her nervousness

wore off.

[moved, changed, disappeared]
19) He was beaming with childish delightl at his success.

[overwhelmed, complete, full] | o | \(

20) Her cake was not worth the candlé.

[useful, useless, Wort\hy] '

EFE (20) | | 14
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21)

Rewrite the following narration into indirect form.

‘And everlastingly it talked in that thin ghdstly voice, fepeating over and

over the same formula:’ How charming you look tonight. What a lovely
day it has been! Oh, don’t be so cruel. I could go on dancing forever -

with you. Have you had supper?

B Read the following passage and rectify the errors. Mention the error and its
correction. [Que. - No. 22-27]

Let us fight for a new world, a decent world that will be given a chance to

work, that will give young a future and old aged a security. By the promise of
this things, brutes has risen to power. But they lie! They did not fulfill their
promise. They never will.-

28)

29)

EFE (20)

SECTION-D

Read the following passage and make a precis. Give a suitable title :

Andragogy on the other hand refers to the theory of adult learning
and explains why adults learn differently from other types of learners.
Andragogy is the art and science of helping adults learn, where ‘andra’
means adult and ‘agogos’ learning (Knowles, 1984). It is further suggested
that andragogy is an approach to learning and a system of concepts that is
focused on the learner. The teacher is the facilitator of learning, rather

than dispenser of knowledge utilizing a present curriculum with rigid

guidelines. The experience is learner - centred with the learner
participating in the planning of the experience, by determining what needs
to be learned, formulating the learning objectives, designing the learning
plan and evaluating their meaning.

OR

You have a garment shop in the city. Draft an advertisement for a sale
there. ' ‘

Mr. Radha Syam was a member of the ‘Flood Relief Committee’ that visited
the flood hit areas of Saurashtra. Write a report of the same to be published
in the committee’s news letter.

OR

Write a letter in a digital form (email) to your friend living abroad about
your preparation for the 12th board exam.

C-5
[4]

[3]

3]

[5]
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30)

31)

SECTION-E

You are Sunil/Sunita re51d1ng at 145, Parimal, Oslam Road, Andheri West,
Mumbai.. Apply for the post of a clerk in a reputed private firm in your
city, Varanasi. Attach your CV along with the application.

Imagine yourself as the Principal of a school invited to speak on the
occasion of Children’s day in another 1nst1tut10n Draft a speech of about

- 200 words to that effect.

OR

Write an essay on any one of the following.

| 'a)‘_ Recollections of my childhood.

EFE (20)

(Introduction - where is your birth - childhood days - daily routine -
conclusion).

b) Mobile Mania.

(Introduction - among youth - good and bad effects - future concern
if any - conclusion).

+4++
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 This Question Paper contains 20 prz'ﬁted pages. ' s Jue : ‘?
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Part -B: Time : 2 Hours / Marks : 50
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Set No. of Question Paper,
(MARCH, 2019) leircle against which is to be

SCIENCE STREAM darken in OMR sheet.

_ . : (CLASS-XID) .
Part- A :Time:iHour/Marks:SO 2 O

- (Part - A)

Time : I Hour] [Maximum Marks : 50

Instructions :

1)

2)
3)

4)

5)

There are 50 obj'ective type (M.C.Q) qhestions in Part - A and all questions
are compulsory. ‘ :

The questions are serially numbered from 1 to 50 and each carries 1 mark.

Read each question carefully, select proper alternative and answer in the
O.M.R. sheet. g

The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) 0, (B) O, (C) 0, (D) O. Darken the

-circle @ of the correct answer with ball-pen.

Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

B Select the correct sentence.

1)

2)

EIE (20)

(A) Be satisfied with whatever you have.
(B) Be satisfied with whichever you have.
(C) Be satisfy with whatever you have,

(D) Be satisfied with whenever you have.

(A) The milk is to hot for me to drink.
(B) The milk is too hot for me to drank.
(C) The milk is too hot for me to drink.
(D) The milk is to hot for me to drank.

1 . C-8 (P.T.0)



3)

4)

(A)
(B)
(®)
(D)

(A)
(B)
©
(D)

Ahmedabad is bigger then many other cities of India., - = .
Ahmedabad is bigger than many other cities of India.
Ahmedabad is biggest than many'other cities of India.

Ahmedabad is big than many other cities of India.

The man in which house we live is a tailor.
The man in what house we live is a tailor.
The man in whom house we live 18 a tailor.

The man, in whose house we live, is a tailor.

#  Select the title of the read related with the sentgnce:

5)

6)

EIE (20)

Present air conditioners carry a lot of carbon footprint.

(A)
(B)
©

For Youth
Strike Against War

The Adjustment

(D) Green Charter

The sound of knocking stopped at once, though its echoes could be heard

within the house.

(A) Can you install love? (B) Monkey’s Paw

(©)

Manage your stress (D) Ants




“What kind of a deal did you make, kid?” [ asked.

(A) Stress Control Exercises

- (B) Sojourner Truth

(C) Unforgettable Walt Disney
(D) Headache '

Get a fish tank and watch the fish swim around languidly.
(A) Manage youf stress

(B) For Youth

(&) Strike against war

(D) Stress Control Exercises

B Select the most appropriate answers:

7)
8)
——— 9)
10)
e
11)
EIE (20)

Which is the first step to install love?
(A) Toopen .yJou.r HEART.

(B) Toinvoke FORGIVENESS. EXE.
(C) Toerase PASTHURT. EXE.

(D) Todelete SELFCRITIC. EXE.

What are all closely interlinked and always work together? _
(A) Mind, eyes and body (B) Mind, heart and body

(C) Mind, tongue and body (D) Mind, emotions and body

When did Sojourner Truth pass away? -

(A) November 6, 1883 (B) November 26, 1883

(C) November 16, 1883 (D) November 8, 1883

3 P.1.0.)



12) What would J. Krishnamurthy like to discuss with us? -

B Read the stanza and answer the gquestions selecting the most appropriate

(A) The problem of poverty
(B) The problem of education
(C) The problem of freedom

(D) The problem of noise pollution

options:

13)

14)

EIE (20)

Aﬁd the morning dews
And mellow hues
Paint hér cheeks with fairy fingers,
While o’er the rills
And the sun-kissed hills,

The love-light gently lingers.

Who kissed hills?

(A) the morning dews
(B) the rills .

(C) the sun

(D) mellow hues

What is meant by “The love-light gently lingers’?
(A) It melts with dew. |

(B) It cannot go away easily.

(C) Tt stays there forever.

(D) It disappears

,,,,,,



15) What are her chegks painted with?
(A) With l_ove light that lingers.
(B) Hills kissed the Sun.
(C) With soft colours with the fairy fingers.
««;LN (D) None of the above -

W Read the stanza and answer the questions selecting the most appropriate
-options:

Where the mind is without fear and the head is held high
Where knowledge is free
Where the world has not been broken up into fragments

By narrow domestic walls.

16) What does ‘the mind is without fear’ mean?
(A) Countrymen are free from fear of oppression or compulsion.
(B) Countrymen have a broad mind and a broad heart.

(C)} Countrymen’s minds are led forward by God to have good thoughts
and perform good actions.

(D) Countrymen enrich their thinking day by day.

17) The line “Where the world has not been broken up into fragment’s can be
interpreted as ...... ’

(A) Where everyone works hard to reach his goal,

(B) Where there is no division among people based on their caste, colour,
creed or religion.

(C) Where people are gifted with fragments of their choice.
(D) All of above.

EIE (20) | 5 ®P.T.0.)
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B Read the passage and answer the questions selecting the most appropriate

options:

After returning to India, Salim tried to geta job asan Ornithologist with the
Zoological Survey of India but was rejected since he did not have an M.Sc. or a
Ph.D. degree. He decided to study further to acquire eligibility. Salim went to
Germany and got trained under Professor Stresemann, an acknowledged

Ornithologist in Berlin.

18) I study birds’ who am I?
(A) An Ornithologist
(B) A Professor
(C) A Zoologist

(D) An Architect

19) Where did Salim get trained under Professor Stresemann?
(A) London
(B) Bangladesh
(C) India

(D) Germany

20) Why was Salim rejected for é job as an Ornithologist?
(A) Hedid npt have an M.Sc. degree l - X
(B) He did not have a Ph.D. degree
(C) He did not have enough experience

(D) Both (A) and (B)

EIE (20) 6



A Read the passage and answer the questions selecting the most appropriate

‘E | options:

} _ .

i: | Yes, the ‘enemy’ was ‘killed” without the loss of a single life, or shedding

; ' even a single drop of blood. He went in the morning to confess his ingratitude to

/ : his kind neighbour, and to ask his forgiveness, and the very man who had been -
- noted for nothing but his wickedness became the friend of all.

21) Which of the following statement is true?
(A) The enemy was killed violently.
(B) The enemy was killed without shedding a drop of blood.
(C) The enemy was killed by power.

(D) The enemy was killed by Mr. Green.

-a,,- 22) Whalt was the man known for? .
’. (A) Forgiveness
| (B) Confession
\ (C) Wickedness

(D) Kindness

L

. B Select the most appropriate word to fill in the blanks:

.
/ 23) The function of education, then, is to help you from childhood not to
% anybody, but to be yourself all the time.
(A) imitate (B) scold
f (C) encourage (D) praise
EIE (20) 7 : (P.T.O.)
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24) But Dumont began to show
her youngest child.

(A) sympathy

(C) love |

25) Mr. White searched _____

was likely to happen.
(A) joyfully

(C) frantically

26) Strike against all

(A) willingness
(B) propaganda
(C) disturbance

(D) ordinances

C-8

to this, so she ran away with only

(B) reluctance

(D) affection

B Select the most appropriate word having the nearest meaning:

27) Calamitous :

for the monkey’s paw, fearful of what |
(B) amazingly
(D) hopefully
and laws and institutions that continue the -
slaughter of peace and the cruelty of war. ' : -

(A) Predictable
(B) Tragic
(C) Augment

(D) Remains

EIE (20)
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28) Benign: :
(A) Rude .
(B) St_ylish
(C) Kind

(D) Destiny

29) Dreary :
(A)‘ Struggling (B) Ever-widening
(C) Fragments (D) Monotonous

B Identify the function used in the sentence:

- 30) Inspite of being intelligent, he could not get a distinction.

(A) Showing contrast (B) Reporting

(C) Making supposition (D) Showing ability

31) Ankit, wait here until Minal calls you.
(A) showing result
(B) describing time
(C)_ comparing thing |

(D) expressing purpose

EIE (20) 9
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32) It might rain today.
(A) habitual past , (B) .synthesizing expression

(C) indiéating contrast (D) expressing possibility

B Choose the correct option to complete the sentence:
33) How . (Exclamation)
(A) | you look on this dress.
(B) do you look on this dress?
(C) about this dress?

(D) beautiful you look in this dress!

34) Shilpal does né)t like to watch T.V.She ____ . (Alternative choice) | wflh
(A) reads either a newspaper or a story book. |
(B) reads a newspaper and a story book. -
(C) reads both a newspaper and a story book.

(D) reads a newspaper but a story' book. :

35) Our teacher . (Indirect narration)
(A) told us that she would teach us message writing the following day.
(B) told us that she was taught us message writing the foliowing day.
(C) told us that she will teach us message writing tomorrow. .

(D) told us that she can teach us message writing tomorrow.

EIE (20) | 10



36)

37)

The more you read, .(comparing)

(A) the good result you get. (B) the better result you get.

{C) the best result you get. (D) (A)and (B)

Our family . (Describing past)

(A) 1is living in the village.
(B) has been living in the village.
(C) lived in the village.

(D) will live 1n the village.

B Select the most appropriate responses:

38) Passenger : I want to go to the railway station. Could you guide me please?

39)

EIE (20)

“

Driver : _ .(Giving instructions)

(A) He must take right turn and go straight.
(B) I should take right turn and go straight. .
(C) They may take right turn and go straight.

(D) Take right turn and go straight. -

Meena : Do you know Shreya Goshal?
Prakash : . (Describing person)
(A) No, I don’t know.

(B) Yes but little.

(C) Yes, she is a famous singer in Bollywood.

(D) You know her very well._

11
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40) | Principal : Why are you late?
Ruchir : .(Showing reason)
(A) The driver is driving fast.
(B) Because the bus will be ate.
(C) Because the bus was late.

(D) The conductor is lazy.

41) Grandfather : Why do you save your pocket money?
Grandson : {Showing purpose)
(A) No, I do not save my pocket money.
(B) I don’t have a savings account in a bank.
(C) Yes, I save my pocket money.

(D) I save my pocket money with a view to buying a bike.

® Choose the correct connector:

(42)  anyone committed a serious crime in the kingdom, the king, __(43)
condemning him to death, ordered to take him to the arena ___(44)  he had to
choose one of the two doors. '

42) (A) Though
B If

(C) Despite

(D) Unless
43) (A) because of (B) due to
(C) according to (D) 1instead of
EIE (20) ' 12



44) (A) where | (B) who
(C) which -(D) when

~ m Select the correct arrangement to make meaningful sentence:
=% 45) Mrs. White had demanded (1) as she wanted (2) back (3) the monkey’s paw Gy
to make a wish (5) to bring her son (6).
(A) 3,6,2,5,1,4
(B) 6, 3,5,2,4,1
©) 1,4,2,5,6,3

D) 1,6,3,4,2,5

46) and Global Warming (1) urgent and serious problems (2) calamitous
consequences (3) climate change (4) are dramatically (5) that can lead to (6).

(A) 4,1,5,2,6,3
(B) 2,3,6,5,1,4
(C) 4,1,3,6,5,2

D) 6,5,2,3,1,4

47) an emancipation act (1) she prepared (2) In 1827 (3) freeing its slaves (4)
to take her family away (5) after NY had passed (6).

[ (A) 3,1,6,5,4,2
v (B) 3,2,6,4,1,5
(C) 3,5,2,6,1,4
D) 3,6,1,4,2,5

. EIE (20) | 13 (P.T.0.)



B Select the correct question to get the underlined word/phrase as answer:

48) The police caught the thief near-the hotel yesterday.

(A) Where did the police catch the thief yesterday?

(B) When did the police catch the thief?

(C) Who caught the thief near the hotel yestérday?'

(D) Whom did the police catch near the hotel yesterday?

49) The doctor advised the patient to take rest for three days.

50)

EIE (20)

(A) Whom did the doctor advise to take rest for three days?
(B) For how many days did the doctor advise the patient to take rest?
(C) Who advised the patient to take rest for three days?

(D) What did the doctor advise the patient?

The teacher instructed the students to prepare a project on solar energy.

(A) Who instructed the students to prepare a project on solar energy.

_ (B) Whom did the teacher instruct to prepare a project on solar energy?

(C) What did the teacher instruct the students?

(D) How did the teacher instruct the students?

14
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SCIENCE STREAM
(CLASS - XII)

(Part - B)

Time : 2 Hours] - [Maximum Marks

Instructions :

1) Write in a clear legible handwriting.

: 50

2) There are four sections in Part - B of the question paper and total 1 to 20

questions are there.
3) All the questions are compulsory. Internal options are given. |
4) The numbers at right side represent the marks of the question.
5) Start new section on new page.
6) Maintain the sequence.

SECTION-A

Read the paragraph and answer the questions:

People constantly mention his name as if he were still alive. Every time we
show a new picture, or open a new feature at Disneyland, someone is bound to say,
“I wonder how Walt would like it?”’ And when this happens, [ personally realize that
it was something he himself had planned. For my imaginative, industrious brother
left enough projects in progress to keep the rest of us busy for many, many years.

1) How do people talk about Walt?

2) State two words described for Walt.
To begin with, I have a word to say to my good friends, the editors, and others
who are moved to pity me. Some people are grieved because they imagine I am in

the hands of unprincipled persons who persuade me to adopt unpopular causes and
make me the mouth piece of their propaganda. '

3) What dosome people imagine?

4) Whois the speaker addressing to?

6]
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Rub both your hands together for a moment to create energy. Place your
palms one on top of the other on the area just below your naval. Breathe consciously
into your belly, making your palms rise every in-breath. Imagine breathing oxygen
into your brain. ~

5) How many steps are there in the process?

6) What should one do to create energy?

Write any two short notes focusing on the questions: [Question No. 7 and 8] [6]

Headache : A boon

*

Which is the most common excuse by mankind?

~ Describe an example of headache in study.

How is headache different from all aches?
Exemplify headache.
How does headache work?

Headache is a boon. Give your views.

The Farmer Ants.

Do some ants do farming‘?. ~

Which ants are known as the farming ants? Why?
Why are they called umbrella ants?

How do they grow fungus?

Appropriateness ofthe title ‘The Adjustments’.

EIE (20)

Who is Nana? How did he love Nani?
How did Nana behave with Nani?

How was Nana changed after Nani’s death?
How did Nana face the trouble?

How is this title appropriate?

16
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SECTION -B

9) Read the following passage and write its summary. Also suggest a
suitable title to it :

Ang Dorjee was going to climb without oxygen. But because of this,
his feet would have got very cold. He thus wanted to avoid long exposure at
heights and a night at the Summit Camp. He had therefore to geteither to the
peak and back to the South Col the same day or abandon the attempt.

He was keen to start immediately and asked if I would like to go with
him. Going to the top from the South Col and back in a day would be strenuous
and tough and there was the risk of Ang Dorjee turning back if his feet got too
cold. I, however, had full confidence in Ang Dorjee as well as in my stamina
and climbing capability. Besides no one else was ready to move at that time.

Read the news clipping and answer the questions:

India’s Manushi Chhillar crowned Miss World 2017

Hindustan Times
November 19, 2017

India’s Manushi Chhillar on Saturday won the coveted Miss World 2017 crown
at a grand event in China, bringing to an end the country’s dry spell of 17 years at

' the global beauty pageant contest.

Chhillar was presented the crown by Stephanie Del Valle, last year’s
Miss World from Puerto Rico at an event held at a resort in the coastal city of
Sanya. - |

~ “T'hank you, everyone, for your constant love, support and prayers. This one’s
for India,” Chhillar wrote on her official Twitter handle.

The first and the second runners-up were Miss Eng]and Stephanie Hill and
Miss Mexico Andrea Meza at the event, which was televised globally.

Chbhillar is the sixth Indian to win the coveted crown, which was first won b

* Reita Faria back in 1966. g : :

[5]

[4]
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Aishwarya Rai had bagged the title in 1994, followed by Diana Haydon in
1997, Yukta Mookhey in 1999 and Priyanka Chopra in 2000, the last for India.

~ Prime Minister Narendra Modi congratulated her for the Miss World 2017
Crown. '

Questions:
10) By whom was Chhillar presenteq the crown?
11) What did Chhillar write on her official Twitter handle?
12) Who were the first and the second runners-up?
13) Name the six Indians to win the coveted crown.
B Do as directed:
14) Mr. White and his son, Herbert were playing chess in their small living room.

They were expecting a guest named Sergeant Morris. When he came,
Mr. White welcomed him and offered him a drink.

Start like this:
Chess was being played...........

[4]

15) Arunima Sinha had started dozing. Her eyes were-closed but her mind was
awake.

When she felt a hand tugging at her gold chain. She opened her eyes.
Start like this:
Arunima Sinha has started ............

SECTION-C

4,

-4

16) Render the following dialogue into indirect speech.

- “Bunty, how dirty your clothes are! Were you playing with your friends?”
asked mother '

~ “No, I was riding my bicycle and I fell down in a pit.” said Bunty
“Oh!. Did you get injured?”
“No.” ‘
“Ok. Take a bath now.”
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C-8
17) Study the data and write a paragraph on it in about eighty words: [4]
Anshul English Medium School, Anand 11 Sports Meet '
‘Date:5-1-2018

Houses Red Blue |  Green Yellow

‘L Items

Races 50 60 70 Jis;

Discus &

Javeline ‘

Throw 60 40 30 50

High & Long

Jump 30 50 65 , 80

Tug of War 70 - 60 75 70

Total Score { 210 210 240 275

v 18) Write a speech in about 100 words on ‘Problems of Working Women.’
Points :  Indian Society still patriarchal in nature - acceptance as working  [5]

professional - balancing work - family life - travelling for work is
not acceptable - safety of working women - unequal pay.

SECTION-D

19) Werite a paragraph in about 150 words using the key words : [7]

Helen Keller was deaf, dumb and blind but nowadays she is considered a very
inspiring figure.

Points :  birthdate : June 27, 1880 - birthplace : West Tuscumbia,
Alabama - early childhood and illness - formal education - first
deaf-blind person to earn a Bachelor of Arts degree - writings -
death : June 1, 1968 - posthu}nous honours,

OR
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Positive Aspects of your personality

Points :  Co-operative and helping nature - performance in educatig\n -
confident - leadership - self dependent - courageous - positive
attitude - sharp observation - performance in sports - éx;ra
curricular activities - honest - skills '

'20) Mr. Prakash writes an e-mail to his younger sister Daksha guiding herhow to  {3]
observe traffic rules in the city.

Draft an e-mail to daksha.2016 @ smail.com from prakash.1969 @ kmail.com
in about 100 words.

To:

From:

Subject :

...\_?:
OR
Write a report on how your school celebrated ‘Environment Day.’ o
:
> > »
*-'w\_ ’
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This Question Paper :contains 20 printed pages. N Uzl A o o+l
| A afn OMR =flenii
S1.No. sl R B,
: 33 1 (E) Set Nefof Qu%stin Paper,
(MARCH - 2019) circle against which is to be
SCIENCE STREAM darken in OMR sheet.
(CLASS-XII) O 9
Time : 2 Hours] [Maximum Marks : 100
Instructions:

1)  There are 100 questions in this question paper. All questions are compulsory.

2)  Select proper option to make the statement correct.

3) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the circle @ of
the correct answer with ball-pen.

4) Each question carries 1 mark.

5)  Rough work is to be done on the space provided for this purpose in the Test
Booklet only.

6) Read the questions carefully before your answer.

7)  SetNo. of Question Paper printed on the upper-most right side of the Question
Paper is Eto be written in the Column Provided in the OMR sheet.

1) Which of the following is known as a user-defined no-argument
constructor?

(A) <classname> () { }; (B) <classname> () [ I;
(C) <classname> { } [ ]; (D) <classname> [ ] ();
2) If we want Private data to be used by other, then which method is used?
(A) access (B) excess
(C) accessor (D) mutator
(Space for Rough Work)
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3)

4)

5)

6)

7)

C-14
Which of the following prefix is utilize for conventionally naming of

mutator method?
(A) set (B) get
(C) wait (D) take

Instance variable and Instance methods are accessed via objects. They

can be referred by which of the following operator?
(A) (,) comma (B) (+) dot
(C) () quotes (D) (;) semicolon

Which of the following variable defined within a class but outside any
method?

(A) instance variable (B) local variable

(C) class variable (D) room variable

Which of the following variable defined inside methods or blocks?
(A) instance variable (B) local variable

(C) class variable (D) ~room variable

Which of the following is a special kind of method that is invoked when a

new object is created?

TCA (09)

(A) Consider (B) Constructor
(C) Conformation (D) Console
(Space for Rough Work)
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C-14

Which of the following are useful to represent vector, matrix and other

8)
multi-dimensional data?
(A) Variable (B) Element
(C) Array (D) Tag

9) Which 01;C the following refer to the starting index value in arrays?
(A) 0 | (B) 1
(C) null (D) All of these

10) If ‘intmarks [ ] = {1, 2, 3,4, 5};” is defined in Java then what will be the
value of marks [3]?
(A) 3 (B) 2
© 4 (D) 5

11) Which of the following constructor is used for without arguments create
a string object with no character? '
(A) String [] (B) String ()
(C) String { } (D) String ( ]

12) Which of the following string class method returns true if invoking string
is same as str?
(A) boolean equals (string str) (B) Boolean eq (string str)
(C) boolean Equal (string str) (D) boolean Eq (string str)

(Space for Rough Work)
TCA(09) 3 (P.T.0.)



13)

C-14
Which of the following string class method returns number of characters
in invoking string?
(A) int LENGTH()
(B) Int Length ()
(C) intlength ()

. —t
(D) Float int length () . ,
14) Which of the following Date class method constructs Date object using
current system time?
(A) Date (cur ()) (B) Date [date ()]
(C) Date (long () - (D) Date ()
15) Date & Calendar class is provided in which of the following package?
(A) java. util (B) java.dc
(C) java. class (D) java. dateclass
16) Which of the following constant is defined in calendar class for year of
calendar? . :
(A) YYYY (B) YRS ’ ,”
© YY (D) YEAR 3
17) What is the size of second dimension in an array gseb [5] [3]?
(A) 3 ®B) 5
(©) 15 (D) 18
18) Errors can be broadly classified into how many categories?
(A) 2 B) 6
<) 5 D) 3
(Space for Rough Work) —-
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20)

C-14

Which of the following is not created when we get compilation error?
(A) .html (B) .sci
(C) .class (D) .java

Which of the following exception class is invoke when there was an attempt
to divide any number by zero?

(A) ArithmeticIndex (B) Arithmeticdivide

(C) ExceptionArithmetic (D) ArnthmeticException

21) Which of the following block may give rise to one or more exceptions?
(A) finally " (B) catch
(C) try (D) allow
22) Which of the following block must immediately follow try block?
(A) final (B) catch
(C) tri (D) excep
23) Which of the following block is generally used to clean up at the end of
executing a try block?
(A) final (B) catch
(C) finally (D) excep
24) Which of the following is a temporary storage?
(A) Non volatile storage (B) Volatile storage
(C) Volate storage (D) Valid storage
(Space for Rough Work)
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25) Which of the following class encapsulates information about the properties
of a file or a directory?
(A) java.io.FD , (B) java.io.FileDir
(C) java.io.File (D) java.io.Director

26) Which of the following file class method retumns true if the file exists,
otherwise return false?
(A) boolean isFile () (B) boolean exists ()
(C) boolean getFile () (D) boolean srcFile ()

27) Scanner class belongs to which of the following package?
(A) java.pack . (B) java.scan
(C) java.ioFile (D) java.util

28) Which of the following scanner class method scans the next token of the
input as line?
(A) String next( ) (B) String close( )
(C) String nextLine(.) (D) Void close( )

29) Which of the following class provides a method for reading password?
(A) File class (B) Write class
(C) Console class (D) Password class

30) Which of the following extension is given to latex file?
(A) .tex B) .ltx
(C) .lat (D) .tte

(Space for Rough Work)
TCA (09) 6
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31) Which of the following character is used to start Latex command followed

by the command name?
| (A) /(front slash) (B) % (percentage)
(C) \ (back slash) (D) # (hash)
Ead 32) Latex divides font families into how many categories?

(A) 2 (B) 4
<) 3 (D) 6

33) Which of the following character is denote a non-breaking space in Latex?
(A) # (hash) (B) % (Percentage)
(C) \ (back slash) (D) ~ (tilde)

34) Which of the following command is used to print mathematical symbol
“#” in Latex?
(A) \eqn‘ (B) \eq

; (©) \mp} (D) \neq

35) Which ofi the following command is used to print mathematical symbol
‘4’ in Latex?
(A) \mp’ (B) ‘pm
(C) \eq (D) \pv

| 36) Which of the following two work environment R software has?
(A) Commandline, Report line
(B) Commandline, Resource line
(C) Commandline, Result line
(D) Commandline, Graphical
= | (Space for Rough Work)
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37)

38)

39)

40)

41)

42)

C-14

R software uses which of the following symbol for comment marker?
(A) \\ (two back slash) (B) // (two front slash)
(C) # (hash) (D) % (percentage)

Which of the following function displays a list of all the variables in R

software?
(A) list() (B) Is()
€ Iv() (D) wvar ()

Which technology gives our location with accuracy?
(A) GPRS (B) GRS
(C) GRPS (D) GPS

Which command is used to quit from R software?
(A) q() B) quit()
(C) exit() _ (D) close ()

Which of the following element is used to create a drop down list or menu

in a form?
(A) Input (B) Select
(C) Drop (D) Area

Which of the following menu is used in Kompozer to create selection
list?

TCA (09)

(A) File - Selection list (B) Edit — Selection list
(C) Form — Selection list (D) Format — Selection list
(Space for Rough Work)
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43) Which of:the following Dialog box is Viewed when user click save button
first time‘in Kompozer?
(A) Save all (B} Save as
(C) Close all (D) Page title

44) Which of the following colored outline is inserted by Kompozer after
defining form?
(A) Light Blue (B) Light Red
(C) Light Yellow (D) Light Green

45) Which of the following settings are Viewed when user defines form in
form properties dialog box?
(A) Form name, Anchore name, methods
(B) Force name, Method URL, method name
(C) File name, Action URL, method
(D) Form name, Action URL, method

46) Which of the following icon comes in composition toolbar at Kompozer?
(A) Font (B) Open
(C) Bullet (D) Bold

47) Which of the following method sends the data as a block through the
HTTP transaction?
(A) SET. (B) GET
(C) PUT! (D) POST

48) Which of the following setting is associated with Textarea properties
dialog box in Kompozer?

(A) Rows, Cell (B) Columns, Cell
(C) Rows, Columns (D) Space, Cell
(Space for Rough Work)
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Which of the following is a selector in a given example of CSS Syntax?

49)
B{color : red}
(A) Color (B) B
(C) Red D) {}
50) How many tabs are viewed in CSS dialog box when you create style rule
for h, element? ,
(A) 8 B) 7
< 9 (D) 10
51) Which of the following is the default tab viewed in CSS when user create
style rule for h, element?
(A) General (B) Text
(C) Number (D) Real
52) Which of the following are two main parts of CSS rule?
(A) Select, declaration (B) Selector, declaration
(C) Select, declare (D) Selection, declaration
53) Which of the following symbol signifies the start and end at a J avascript
block?
(A) Curly bracket (B) Semicolon
(C) Square bracket (D) Round bracket
54) Which of the following is a container for storing data in Javascript?
(A) Integer (B) Variable
(C) Event (D) Event handler
(Space for Rough Work)
TCA(09) 10



35) Which of; the following event is used in javascript for form fields to reset
default values? '
(A) change (B) abort
(C) reset (D) load
56) What will be form name in Kompozer if variable x is defined in following
way in javascript?
Var x = document. oct. month. value;
(A) value (B) document
(C) month (D) oct
57) Which of the following is inbuilt function provided by Javascript?
(A) valiform () (B) hello ()
(C) alert() (D) wvalidate forms ()
58) Which of the following is a reusable block of code that performs a
particular task?
(A) Code ‘ (B) Array
(C) Program > (D) Function
59) Which of the following is a collection of interlinked webpages?
(A) Form (B) Webpage
(C) Komipozer (D) Website
|
60) Which of ithe following function is used to convert the data into number
in Javasm"ipt.
(A) ParseFLOATS () (B) ConveFloats ()
(C) ConvertFloats ( ) (D) ParseFloat ()
(Space for Rough Work)
TCA (09) 11 , (P.T.0.)
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62)

63)

64)

65)

66)

C-14

Which of the following is a variable that is stored on the user’s computer?
(A) HIML (B) Integer
(C) Cookie (D) Java

Which of the following in table is used to specify gap between cells?
(A) Spacing (B) Caption
(C) Border (D) Padding

Which of the following is to used to show height & width of the table in
Table properties dialog box in Kompozer?

(A) Pixel or count of the window (B) Pixel or % of the window

(C) Pixel or count of the cell . (D) Pixel or percentile of the cell

Which of the following tabs are viewed when user insert table in
Kompozer? '

(A) Quickly, Precisely, Cell (B) Quickly, Private, Cell

(C) Quickly, Pure, Cell (D) Quickly, Perfect, Cell

Which of the following is another free open source WYSIWYG web editor
developed by the World Wide Web Consortium (W3C)?

(A) Grif Blue (B) Aptana Grif

(C) Amaya (D) Blue Grif

Which of the following means we can transfer the webpages from our
computer to the webhost?

(A) CTW (B) ATP

(C) FIP (D) HTP

TCA (09)
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67) Which of the following is the proceés of conducting the banking
transactions over the internet?
(A) Chat Banking (B) Group Banking
(&) Whétsapp Banking (D) Online Banking
68) Which of the following factors are playing role for growth of E-commerce
in India.
(A) Decfease 1n use of mobiles devices
(B) Broadband and 3G, 4G Services
(C) Use of traditional Shopping
(D) Unavailability of much wider product range
69) Which of the following is Advantage of E-commerce?
(A) Resistance to change (B) Speed
(C) Lack of trust (D) Credit card frauds
70) Which of the following is newspaper that exists on the internet in digital
form?
(A) WWW-newspaper (B) I-newspaper
(C) Internet-newspaper (D) E-newspaper
71) Which of the following e-commerce business model is also a port of
E-governance?
(A) B2B. (B) C2C
(©) G2C (D) C2B
72) Which of the following are example of C2B websites?
(A) commodity.com (B) tradeindia.com
(C) OLX.com (D) bidstall.com
(Space for Rough Work)
TCA (09) 13 (P.T.0.)
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73) Which of the following refers to E-commerce activities between different
business partners?
(A) B2G (B) B2B
(©) C2¢ | (D) B2C

74) Which of the following provides the user with the advantage of flexibility
and ubiquity?
(A) F-Commerce (B) M-Commerce
(C) U-Commerce (D) FUb-Commerce

75) Which of the following is the symbol for trademark?
(A) ™ (B) SM
(C) MS _ (D) TS

76) Which of the following is a protocol used for securing web transaction on
the Internet?
(A) HITP (B) TCP/IP
(C) Bluetooth (D) SSL

77) Which of the following is the transformation of encrypted text back into
normal text?
(A) Digital Certificate (B) Firewall
(C) Decryption (D)} Virus

78) National Payment Corporation of India has launched which of the
following card in India?
(A) Rupay Card (B) Aadhar Card
(C) Net Card (D) Election Card

(Space for Rough Work)
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79) Which of the following card works just like a credit or a debit card?
(A) E-Wallet (B) Aadhar Card
(C) C-Wallet (D) Election Card

80) Object ofiented programming allows defining more than one method
having same name but different signatures in a single class is known as
which of the following?
(A) Message (B) Method overloading
(C) Aggregation (D) Composition

81) Which of the following is known as objects of one class are composed of
objects ofi other class?
(A) Meslsage (B) Method overloading
(C) Aggregation or composition (D) Abstraction

82) Which of the following represent non-exclusive relationship between two
classes?
(A) Composition (B) Comparison
(C) Aggregation (D) Abstraction

83) An Inheritance model refers to which of the following relationships?
(A) ‘has—!a’ (B) ‘is-a-kind-of’
(C) ‘a-part-of’ (D) ‘of-a’

84) In class diagram, composition is represented using, which of the following
symbols?
(A) Empty diamond symbol (B) Filled diamond symbol
(C) Empty triangle symbol . (D) All of these

i (Space for Rough Work)
| ,
TCA (09) 15 (P.T.O.)
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85) Which of the following can be used to create models of object-oriented
Software to help with design of an application?
{A) Unified markup language (B) Unified modelling language
(C) Unified maseup language (D) Unified morphing language
."Wh_:(_.
86) Which of the following is not a visibility symbol? ‘
(A) * (star) (B) ~ (tilde)
(C) # (hash) (D) - (dash)
87) Which of the following is a concept that hides the complexity; it says
what it does, but not how it is done?
(A) Polymorphism (B) Message
(C) Abstraction (D) Data
88) Where Java language developed?
(A) Apple systems (B) SON Microsystems -
(C) Oracle systems (D) Sun Microsystems \
89) What is the full form of JVM?
(A) Java Vertical Machine (B) Java Virtual Machine
(C) Java Varity Machine (D) Java Visual Machine
90) Which of the following editor is used to create Java file in Ubuntu?
(A) Calc (B) Writer
(C) Scite (D) Wordpad
(Space for Rough Work) B
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91) Which of the following is right when Java file is created?
(A) Java source file & class name must be different
(B) Java lsource file & class name must be same
(©) Nam:e must start with Number ‘2’ only
(D) Name must have symbol ‘$” at the end

92) Which of the following is comment statement in Java?
(A) J#--—#/ (B) \f-—--%\
(©) fr-mnitl D) [5eenel

93) Which of the following command is given in JDK using Java interpreter?
(A) Run Call Cost (B) Javarc Call Cost
(C) Java Call Cost (D) JavaRun Call Cost

94) Which of the following is missing from compilation process to execute

Java application.

LU |

[Java Source File (Usually have extention.java)|
' N

| | JavaCompiler (Javac) |

E—— |
i o

| JVM-Java Interpreter (Java) I

(A) Java Bitecode file (x.csc) (B) Java Bytecode file (x.class)
(C) Java B;oo'kcode file (*.cla) (D) Java Compilercode (*.javacr)

& ' " (Space for Rough Work)
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95) How many basic (primitive) data types are 'su_pported in java?
(A) 4 (B), 2
(C) 8 (D) 16

96) Which of the following escape code is used for backspace in java?
(A) \t (B) \n
(C) b (D) \k

97) Which of the following loop is exit controlled loop in java?
(A) do.... while (B) for
(C) for.... while (D) exit ... while

98) Which of the following is not a part of Four P’s protection in Java?
(A) Package (B) Public
(C) Private (D) Provided

99) Which of the following is the highest level of protection in Java?
(A) Package (B) Public
(C) Private (D) Provided

100) Which of the following is the meaning of polymorphism?
(A) Post text (B) Post morphism
(C) Single form (D) Many forms

> > >

C-14
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-3) Wl s v 01 ol 50 8 A R und et 01 B.
4) mﬁwpe&m@aomwvdo‘ram-mmm)o ®B) 0, (C) 0, D) O
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5). wwwasdl Gurell evupll cusyni el unwas Az A } OMR sl 2l

ke Yy oyl dviell] 282,
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K
@
©

4)
&)

1ZA (01)

There are 50 objective type questions in this part - A and all
questions are compulsory.

The questions are serially numbered from 01 to 50 and each carries
01 mark.

You are supplied with separate OMR sheet with the alternatives
(A) O, (B) O, (C) O, (D) O against each question number. For each
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L u)’ ﬂwgqam 31{?@'6 ?
Give plural form of U7
A) pluls . ®)
(©) LDl D
2. Jf o oA 3 SO ?
 Give Plural form of J27
() AW S ®
© gl | D)
3. (andea d olguuA U S O ‘?l |
GivePlural formof (ai3a ? ‘
(A) (3la ®
(O Vsbaa | (D)
4. c_x_b iﬁgqart Y e S 9 |
Give Plural form of <18 ?
A @i ®
©) b (D)
5. d§ q cgaRA{3U & O 2
| Give Plural form of (J )_°- ?
(A J§ o (B)
© Ji D)

I1ZA (01) I 2

o 51

£ S

QGJL».A .

r.tﬁ.l.;.a\
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6. d{ri 4 AsRAA, U 4 O ?

Give Singﬁlar form of (}} sal ?

(A) Ul ®) J
© S @
, B T Uf......_‘ Grrell otrig] 2UsUE, oo

» E .
Give Imperative form of (J i ?

@ (B) Sl
© il D) sl

8. LAY Gwrell oidd usuel 3u s D ©

Give Imperative form of Caddi ?

, (A) il (B) 1383}
i |
(©) Lwd) (D) bl

9. :}.; A5 Gurell ot 2uistel u........ 89
Give Imperative formof :); 9
A & - (B) d;_ﬂ
(C) MAa | (D) Hlaa
10.  Gulsd Gurell Gtig 2usuel 3w L O 2
Give Imperaﬁve form of du.l:u 7 |
@ ads . @ Wi
© pula D) !

IZA(01) =3 - (P.T.0.)
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11, 32 3 Guzell ctrig »uistel 34 ........ 87

Give Imperative form of 3& 337

@) g3 B) l&a
© s D) el

12, 5,8 Gurell vintd wusuel 3u £ & 2

Give Imperative form of s i ?

(A) 58 B) )
(©) i ®
13.  axle d Smcicuzs uedABl 89

Givel Superlative form of asle ?
@A) ple | (B) pdel
(O gelel D) alel
14, s o Suciois AU AU ?
What is the Superlative form of prwa ?
A) gwal (B) e
(© ples D) sl
15, S o Al et £ 8 Q
What is the Superlative form of ped ?
(A) o | (B)  cmd)
€) b (D) el

IZA (01) 4

b



- 16.

17

18.

SR A ABcieiRs AR 89

Give Superlative form of 1 ?

B) s (B)

© 5l D)

o o Amcicnus A 8D 9

- Give Superlative form of ’:,._ms ?

(A)  alad) | (B)
(C) pol8 D

Almas v ABCUARS UAABL YA O ?

What is the Superlative form of s ?

(A) (B)
©) 2ela D)
19. B oA -dlealdzu ... 8 ?
The feminine gender of W& ig-------?
A S8 - (B
(C) s (D)
20. zy5d iz sys 2
Which is the feminine gender of 337
(A) s | tB)
(O gzl D)
IZA (01) . B 5
| i

R

s

dxanl

Y8

C-13
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21.

- 22,

23.

24,

&\ Al 34 £ B 2

Give feminine gcnder of é\ 7

(A) Al | (B)
©) Al . D
C"L"" o tRleald 3w . S 9

* The feminine gender of aibia js-—-— ?

A ghwa (B)

© sala D)

éﬁ}t o Alonld 3u 4 S 2
Give feminine gender of éﬁb ?

a) &l S ®

(©) saily D

23S Al 3 L D 0
The feminine gender of J.CS is--------?

C-13

BT

Ladly

ST

&) S o (B) 50
€) &8 D) L5
_25.' | AUAIN HER 2ROl UAGE A AR ... ?
Which is the arabic word for “Anonymous” -------- ?
(A) Gu : - (B) Jela
© ol @
1ZA (1) © 6 -
i i A i
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A3 & 2R0AL 2ACE A ?

26.
Which is the araBic word for “ stream” ? .’
LA & | ® e
- © | D) - on
27. Gv;_auwié 24204l USE . S 92
An arabic word for“Remedy” is------ ?
@ s (B)
© &k | (D) i)
28,  [Rie wiz ol weg sl R S 2
| Which word is used for “Liori’_’ ?
- (A). desc (B) il
© Ll D) Je>
29,  ([QurRs we 2rell e ... & 92 |
An arabic wprd for a man who is interested in learning is ------- ?
A pslal 2l B aslall
©) ol . (D) ide
-~ 30 csdlll W2 uRLdl 2R %tc»é -
| An arabic word for sticks is------ ,
) | B) 1L
©) Jela D sy
1ZA (01)- . g - (P.T.0.)
t $ N



@@L}{R - Clever

cusuzal - Eloquence

Aua 9. - He walks

aws. - He cries

add el - Flowing water

sirM vl - Hot water

va{l - Bird

29! - Desert

4 G & - He stands up

delas. - He speaks

31 ed Aoprridl 28] g el B 9

What is the English word for sl ?

(A) i - Story (B)

(C) endiaiw - Conversation (D)
32. fAn Aoprd el & ?

- An English word for 3 2 is ----—- ?

(A) davl 8. - He writes (B)

(©)  Ad. - He speaks shlok (D)
33, Y5 Aol 28 g & 2

What s the English word for N

(A) &gwell - Cold water | (B)

(C) ~gwell - Sweet water (D)
34. g‘i‘-Tuﬁ‘)) AL ojerRicll 2ol 520l B ?

Which is the English word for u.cf a9y ?

(A) ollrep(l2 - Dense garden . (B)

(C) el - Forest D)
35, Cigy Aoyl e .. 89

An English meaning of VAR — ?

(A) Aewl®. - He gets up (B)

(©) A=dd. - He walks D)
IZA (01) . 8
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36.

37

38.

39

C-13

s E ,
Diet Assridl wel 50 S 9
' s £
Which is the English word for ’,5& 17
(A) @[ig - Intellect (B) ieelg - Mentallyretarded

(C) owgeylgruvl - Most Intelligent (D)« - Target

F Gurell vt J“G(‘l e N VORI ?

Which is the 7agent noun of & ? | |
(a) A | (B) il
€) 5 A4 D) ALl

K Guzellottd Jeld ol égﬁﬁjé ?

" Which is the agent noun of wSowia ?

A)  sKala B gk
) Ko D) Kala

ik Gurell ot e lb as | o oo

(A) Ml (B) . Hle
© slate D) slile
40. UELL Gurellotnd, Jeldpsl d 3usid 2
Which is the agent noun of di—“‘ 7
A) | (B) Wl
© e D Ju
I1ZA (01) " - 9 | . (P.T.O.)



41.

42.

43.

44.

45.

s e

Ciad Gurelletrtq) J‘G(’l 3

The agent noun of Cadd is-~~—f?

(A) sy (B)
© sk | )
J'.""‘ Gure{l etrigf J‘G("l 4 D9

‘Which is the agent noun of gf"‘ ?

(A Mile : (B)
© oslile D).
@.H..271"-l'l S pauA Ay ? | ‘

| Who died in H.S 271 ?

(A) Sodgauoiebne Kutaibah  (B)
(C) = sitecll-Abul hasan Nadvi(D)
el ldd A Y B 2

Whét is the name_' of poem of Khansa ?

A) pala u‘ﬁﬁ.' (B)

(©) izl gl (D)

aadl

Jile

sle

&1 - Hassan

w2 - Khansa

ol 1 5 4,2}

YEUE @it SoudlmA st Gurnell »horvail 20A 8 2

By which nick name Muhammad Hafiz Ibrahim is recognized ?

(A) =2wRet1s@ - Poetof Arab . (B)
(C) gr-usfa - Poet of Iran (D)

IZA (01) 10

[ )

owrdl 5@ - Indian Poet

~AdanLs(@ - Poet of Nile

C-13
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46.

47.

48.

49.

50.

C-13

ogd @ Agelll o= S

The birth of Abul hasan Nadvi is-------

(A) 1940 . . (B) 1913 -

(C) 1900 : (D) 1950

HE 2], 2t S s, Wy

(A) 1930 (B) 1954

(C) 1940 (D) 1970

gHE 2N @i gl Ao |

The name of the poem written by Ahmad Amin is-----
A) bl Gagl B) oAl o
© olsdisla D) s\

YuE $ildos Seudlue 3y .

Muharnmad Hafiz Ibrahim died in--------

@A) 1830 | (B) 1944

(C) 1750 - (D) 1932

€23 Vil AR ... -éti‘?‘
The original name of Khansa was-----

(A) @{LQQ - Tumazir |

(B) =ellw - Rabiya

(C) =il - Raabiya -

(D) =rRwW - Asma

1ZA©D | 11 S  ®T.0)
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SCIENCE STREAM
(CLASS - XII)

C-13

Time : 2 Hours] (PART - B) * [Maximum Marks : 50
YAl - |
1) 2 UAWEL LB W g4 04 [Rewst 8.
2) A (Aot @A 9. '
3)  orugll chigg-u 25l d-t 3@l exild S,
Instructions :-
(1) This guestion paper contains Four sections.
(2) All the sections are compulso_ry.
(3) Figures to the right indicate full marks.
SECTION - A
1. A2 2 ssimiell o8l A Al HiEaeAl euNiHl 2A-4eUE S0 [10]
Translaté the following passage into mother tongue (any two)
il gjindaliiie Gk iy gt diissdelasts @
LA‘_}.(J)JLLHQML_L!L{ J)AJ_‘\UAQ;)_\M‘LIJ:\H C_}J—“eu\
u.n;.m.ij qfﬂwemfa}ujlqg_e&;)\db L_:_u.]a.n.a.;.c.
ARy g Byl e i<l 'i:duéliji (i)

A Al da.s
PSETCNAATE I IR YEN (R AT
K i 5 disle (S

R AP SR

1ZA (01) ' | 12

Y



]

Al 533 L 5uasf 2K S|

e Buiagi 2a L
laai i o5all 5281945 5 25
G& o5 Oy 15 4 15lse
ey | gladllaa 5l 4i 4
| IERENIASETA FRCT L N O
54 SR A 5 & 3330
N R eI EEP
Sl Gl 3 gk F
Gl akisste e e oaii ) Sk
AL s
2. -3 2 sauris s FHUAMR 2UsellA cvil,
A Write down the following story by the order of the leéson.
SR T T P MR P SHEE
ik g5 N85, i 8 e s 2
e Lo o oS40 4808 3086 30 i ppitl B WS Rl
3 ) s RISl 451 38,45 (18128 42T A il
| il b
SECTION - B

30 ARl 20 sievigaiell ol A AL weunAl e wiqens 3.

Translate the poem in ybur mother tongue (Any two).

J.ifd\&_uu:dld.‘.c j

I1ZA (01) ' 13
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[5]

[10]
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iallaslh 4 |
asa Yy aal jie s

SRR E Y
S5 s (A

oty ll i 5

 GHigap "

I ORCAPRA U.*’E‘"“ LAy i)
Dl g i gk
33 e e Bl 55805
TR WIS |

4, —ﬁﬂ 2L WR2BE] Al 30 -l r{li_ 2yl ueilL Gz 2ol aviL[5]

Read the passage and answer the questions in Arabic .
Loail g2 glga B il 51 (55
Ay s 4 ek s (ALl
g Lol 585 Lgilile o o S 25 S5
Uy o1 3355 g8 AT k)

L)

- . s s 8 PR P . s
ok L) 3a5a il o V) Al y e 25 o)

IZA (01) 14



| | Q:\-Lvd u"“ )
| SECTION - C |
5. 2 wudal AvEl 36 oGl A Sis QA el cuwed A @Al
Write a short note in your mbther _tongue(Aﬁy one)
ay 2o s Al sl Agell
) BISHE 23| -
(1) Abul Hasan Ali Hasani Nadavi
= (2) Ahmad Amin
6. I3 el sEB2A A5l 2N A As @A weanl ounmd Al @,
Write a short note in your mother tongue (Any one)
(1) btr%tl(q&.)
2) Blodd céL@M@l
(1) Khansa (Radi)
(2)  Akhtal Taglabi
IZA (01) 15 - - (P.T.0.)

sl Questions :-Lw\’\

gy o

qigiandl edll el ()
Gligilid oo il a Gid)
¢Vi &l fa Gy

(5]

51
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- SECTION -D ;
7. 3L e cusll Gur Al el @oudl (LA AR) . [4]

Put < =1 on the following sentences (any four ) :

ot AWl g8 @

de e (i)
el Juals bl S8 (i)
sdl A Lalgals (W)

LosY ey V)

8. A3 20al Al 2R AE s (PrLAAEL) [6]

Transléte the sentences into Arabic (any three)
(1) U YUSAR D, |
(@) elAereusA clasal | )
(3) AR URAD. - | e
@) RAS RN vasie, |
C(5) W3 ARLASUED. '
- (1) Today is Friday.
(2) JThe women closed the door
| (3) IhaveaPen. |
4) The Friends fed the poors.
(5) Myname ié Ahmad.

v v v Vv

IZA 01) | | 16



This Question Paper contains 16 printed pages.

(Part-A & Part - B) M3 WAL A2 Hor @l
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SCIENCE STREAM be darken in OMR sheet.
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H ‘:‘L. ‘
*° . Part-A:Time: 1 Hour/Marks : 50 05

Part- B : Time : 2 Hours / Marks : 50

(Part -'A)
Time : 1 Hour| ' [Maximum Marks : 50
quad ¢ | |
1) SE AR ux d Part - A ¥ g8 SR & T 50 T97 2 | @vdt woa aifierd 2 |
2) SRR EEN 1R S0 em awm wm o 1§ |
3) WY YRRl Wl gl A P ot @@ Reweu @t o
4) ma—ﬁamﬁﬁqﬁOMR o ° 9gEt & |@mA (A) O, (B) O, (C) O 3k
(D)Oﬁqn&%lﬁmmwmaﬁam%m%ﬁmaﬁ&qﬁ@im
!‘*: (@) =T gem |
5) fiu ™ uwum § sw i ok wwAum @2 Fw B O.MLR. e § sueey wiem
4 forfae |

1) Rwm e gemk w aef gt
(A) wift| =
(B) feum wm =)
(C) Fomm aw %
(D) y@ =l

2) ‘sRwE=maAr mmawﬁawqﬁrﬁm
(A) e ger
(B) e g
(C) urt fam st
(D) g Bl

HBH (05) ' 1 ‘ C-2 (P.T.0.) |



3

4)

. 5)

|
mmugmﬁq
,m - !

AR

(A) R

FgAta T
(B) -
(C) wwuma

qHAE
(D) wegEw

RIS -
N I FATY

|
e

(A) TR
(B) Ta-fa7
(C) wumifam
(D) &Y

HATIR iR
.\
- wR-Red
¥ m
‘ .

(4)

- (B)

6)

HBH (05)

©

@)

T + TR
3 + TER
axﬁ+3n'eml
S + JER

2
e - e
1|
PN R+ o
(A) TE = 9k :
+

(B) wda = "
©) n@maﬂa;

T +
(D) g ==



7)

8)

| 1

(A) 9

(B) W i .

) UHeH Hgt .
. wa-ffem ==

(D)

Ty
37ed | Hafea g

i gty 5=

ﬁq@ |
:?Twﬁam

.
(B) & A |HEI

T |
) 3% R wig g
(C

9)

C10)

G & v B
(D)

gft &
gfam

S 1o Ei |

ek HERION

R R

m’

gﬁa:ntn

TRl

Th

TR H

A e
AT
o - Tg -
ﬁﬁ
(A) W™
(B) ma
(C) =moft
D) &

|
T

uelt l

(A) wicTdt

(B) TR

(C) demt

(D) a;r%tﬂw
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11)

4

gﬁa%m%waﬁiww%i’
(A) I

(B) Yfcteamen

12)

(C) [
(D) H=H

Treteent < fapw it <ht tefamn w1 o 32

- (A) oot

13)

14)

HBH (05)

(B) <igen
(C) =T

(D) ERE

msﬁgﬁﬁ'{u@.ﬁa@mwmﬁﬁ?
(A) WERHABE M Al

(B) 3iigd 4l

(€©) TgH I Al

(D) I} |

T W B 3 3 g e Sh @ wi e 27
(A) e

(B) Ul smEe

(C) agI=a

(D) TN



.15)

16)

“Feeirg I IR’ UT3 i Hiigcd TR S|
(A) =EdE

(B) IEI-=UH

(C) e

(D) Gl

Hfgerat a yaia e swamn T g?

(A) I

- (B) eTOH

17)

18)

HBH (05)

A

(C) oA
(D) Wi

R ¥ TTaUTE FRETE R gu 1 Seora e | e e
(A) =
(B) ™\
(C) wm
(D) dae

Wﬁ%a@gﬁgﬁm%{ﬁ%@?
(A) BT HE

(B) w4

(C) TR WY

(D) YR

Ty
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20) ﬁmaﬁwmw'm%mﬁ%%?
(A) femwem |
~ (B) wmierR
(C).w'wlm
(D)‘mﬁm

21) THATTICE! SESIEATE W S wEl gal o417
(A T :
(B) ¥R
©) FwEm
@

22) wHerledl A form fhew o erftmm faem en?
@A) e |
(B) shwn '
(C) TEas
(D) wHemEd

HBH (05) - S 6

} A
i



23) m-ﬁa@%mmzﬂaﬂmﬁawﬁﬁvﬁﬁﬁnzﬁmﬁh@ k0= SUUSUUURIN
HE AT |

(A) e
(B) HIER
(C) weigst

(D) wE

24) IU-GigY T TG R TR 87
(A) et & e 7 wAaE

(B) =R Y&
(C) kel | BW =1ell

(D) TFEw

25) FER HERAH oo, ' s 1 fres fafe w1 o R e R

HBH (05) | 7 | "~ (PTO)



27)

28)

29)

30)

TR R % R w1 W TR
(A) TR s

(B) wiere: g

(©) wmm

(D) gedicE

T AW 72 U 2 I F =AW

form e o T ¥ I swEm W

ST AT H TG YIeg W e 27
(A) @™

(B) AW

€y @&

(D) =&

HBH (05) | | 8

L) il . %



31) Tite snfeaniEral o ure wufd & A W T 272
@A) R |
B) Hwt g
> (©) wi-dm
(D) wh T

32) farm e 3 TR ¢ it R g i e 2
(A) et ’ |
(B) TSR
(©) T
©) #h

33) o S R o el A T wE e
(A) 3T 3R TR -a
(B) <emiw®
(C) wFnl dh
(D) 3wt =t g TR

k2 34 ‘ﬁ’mﬁmﬁmﬁm—wﬁaaﬁaﬁqm%?
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Q(C) Oracle systems (D) Sun Microsystems
JVM 1 Q0 A #4187

(A) Java Vertical Machine (B) Java Virtual Machine
(C) Java Varity Machine (D) Java Visual Machine

Wﬁmwmﬁ%mﬁmﬁr@aaﬁqﬁ@awmﬁmh
(A) Calc (B) Writer
(C) Scite (D) Wordpad

frffiaa § @ S @ ey 9 § 9" AE EIEE S 87
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(B) el e wiget iR SFeAre st A Teh g1 WY
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(D) w3 siad § fag g =fen
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93)

94)

95)

96)

Frferiea @ & 7 w1 wuwg JDK # wran geafier # fomn e 22
(A) Run Call Cost (B) Javarc Call Cost
(C) JavaCall Cost (D) JavaRun Call Cost

Freffiga & & sran st = wvawee @ B whea § w0 farn 18w

I Java Source File (Usually have extention,j ava)|

|' Java Compiler (Javac) ]
j 1
I, |

L
| JVM-Java Interpreter (Java) —I

(A) Java Bitecode file (*.csc) (B) Java Bytecode file (+.class)
(C) Jav:a Bookcode file (*.cla) (D) Java Compilercode (x.javacr)
e ® fheR gy Se1 ey 27

A) 4 B) 2

) 8 (D) 16

ﬁﬂ%‘f@ﬂﬁﬁiﬁﬂmescapecodeﬁﬁ%ﬁ'ﬂﬁ?%@?ﬂtﬁﬂﬁmmﬁ?
A) \t (B) \n
© Wb (D)

97) freaferfiaa @ == @ ¥ exit controlled ¥ gl JATaT 8 ?

(A) do.... while (B) for
(C) for ... while (D) exit.... while

C-14
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98) frmfefio & & Fi w1 Hen 3 =R P’s T A TA 2
{A) Package (B) Public

(C) Private (D) Provided

99) Freferiian i R frw = Ted I Paet H AN H TR E?
{A) Package (B) Public

(C) Private (D) Provided

100) Freferfign 3 & wifemifew (Sgeaa) i 7aed 7027

(A) HIRE IHE (B) Ui Riftm
(C) diet T (D) UH | T alish
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This Question Paper contains 20 printed pages.
(Part-A & Part - B)

SI1.No.

(CLASS - XII)
Part-A : Time : 1 Hour/Marks : 50

Part - B : Time : 2 Hours / Marks : 50

U3 Yyl He AviR el
Al adon OMR 2lleni

052 (E) g s 8 9,
Set No. of Question Paper,
(MARCH, 2019) circle against which is to be

SCIENCE STREAM darken in OMR sheet.

(Part - A)

Time : 1 Hour], [Maximum Marks : 50

Instructions :

1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions
are compulsory.

2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet. )

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @ of the correct answer with ball-pen.

5) Rough work is to be done in the space provided for this purpose in the Test
Booklet only. :

6) Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7)  Use of simple calculator and log table is allowed, if required.

‘ Rough Work

1) The decomposition of NH, on the platinum surface is zero
order reaction. If K = 2.5 x 10~* mol/litre second™!, what will
be the rate of production of H, in mol/litre second™' unit?

(A) 7.5x 10%
(B) 2.5x 10"
(Cy 5.0x107
(D) 0.5x10°
COA (09) 1 c-10 (P.T.0)



2)

1
What is the value of slope in the graph of log K against T ?

A TI303 R
g _E2
(B) R

o ——=_
© 75303
D) -K

3)

4)

COA (09)

Which of the following relation is correct for elementary
bimolecular reaction?

(A) . Order of reaction < molecularity
(B) Order of reaction > molecularity
(C) Order of reaction = molecularity
(D) Order of reaction < molecularity

Which equation is true for Langmuir adsorption isotherm
at low pressure?

x
(A) —=ap

n |

x b
®) —=— .

moa '
C i:lx‘l" :
© =P ;i
oy =4

C-10

Rough Work



S)

6)

7)

8)

9)

COA (09)

From which enzymes are made?
(A) Lipid

(B) Carbohydrates

(C) Vitamin

(D) Protein

Which 1s decreasing order of coagulating power for positive
charged sol?

|
(A) PO;>S0.]>Cl

(B) SO;*>PO;’>CI
(C) CI >S0;” > PO,

D) CI >PO; >80,

2,3 - Dimethylbut - 2 - en _EE)“(%%{T which final product

is obtained in this reaction?
(A) Pfropanone

(B) Pfropanal, Propanone
(C) Propanal, Ethanal

(D) Propanal, Propanol

Which of the following compound will give
disproportionation reaction-in the presence of alkali?

(A) Acetone

(B) Acetaldehyde

(C) Acetophenone

(D) Formaldehyde

By hy(!:lrolysis of which substance carboxylic acid can be
obtained?

(A) Propanoyl chloride

(B) Acetonitrile

(C) Acetone

(D) Acetaldehyde

C-10
Rough Work

(P.T.0.)



10)

11)

For which acid the value of pKa is highest?

COOH

(A)

~9)-

NO
COOH

(B)

o

CH,
COOH

(&)

o
0 : :
s

COOH

D)

<o)

Cl

Which is the magnetic momentum of cuprous chloride on
the basis of axial rotation?

(A) 0.0BM.
(B) 1.73B.M.
(C) 4.90B.M.
(D) 2.83B.M.

12) Which alloy is used by dentist to fill the cavity in the tooth?

COA (09)

(A) Hg+ Ag+Sn+Cu+Zn
(B) Hg+Ag+Cu

(C) Hg+ Ag+Cu+Sn

(D) Ag+Sn+Cu+Zn

C-10
Rough Work



13) Which are the correct uses of potassium dichromate from

14)

15)

16)

COA (09)

following?

(1)  As an indicator in redox titration

(i1) As areagent in COD measurement

(iii) As reducing agent in synthesis of organic compounds
(iv) In leather industry

(A) (i) and (iii)

B) @

(C) (i) and (iv)

(D) (i), (i) and (iii)

Sentence (A) and its reason (R} is given below. For it which
option is correct from given options?

Sentence (A) : Atomic radii from Cr to Cu is almost similar

Reason (R) : Shielding effect of entering electron in 3d
' orbital decreases repulsion force of 4s
; orbital electrons towards nucleus.

(A) A and R both are:true. R is not correct explanation of A.
(B) A and R both are true. R is correct explanation of A.
(C) Ais correct, R is wrong.

(D) A is wrong, R is correct.

For which complex from following value of Ao will lowest?
(A) [Co(NH,JF*

(B) [Co(CN),I’~

(©) [Co(H,0))"

(D) [Co(C,0),)"

Which is primary valency and secondary valency of
transition metal ion in ammonium diammine dioxalato
cobaltate (III} respectively?

(A) 3,6 (B) 3.4
(C) 0,4 D) 1,6
5

C-10
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17)

18)

19)

COA (09)

Which of the following pair is a example of linkage
isomerism? '

(A) [Co(NH,),NO,] Cl and [Co (NH,), Cl] NO,

(B) [Cr(H,0),]Cl,and [Cr (H,0),Cl]Cl,-H,0

(C) [Co(NH,)F*[Cr(CN),T-and [Cr (NH,),]** [Co (CN)J*
D) [Co (NO,) (NH,),] Cl, and [Co (ONO)(NH,),] Cl,

p-Toluenediazonium chloride —5°Ch *HC o what will be

product of reaction?

a) <0 >—NH-NH,

® HCc—< 0 >—CH,

© 11— 0 >—NH-NH,
@ <o >—cH,

Which compound is optically active?

(A) Butan - 2 - amine
(B) Butan- I - amine
(C) 2 - methylpropan - 1 - amine

(D) 2 - methylpropan - 2 - amine

. C-10
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20)

21)

22)

COA (09)

Which compound by reduction with LiAIH, will give
secondary amine?

(A) Ethyl isocyanide
(B) Nitroethane
(C) Ethanamide

(D) Ethanenitrile

Which compound will give carbylamine test?

(A) D;iphen ylamine
|
(B) Benzylamine

(C). N, N — dimethylaniline

(D) N-methyl benzenamine

In which of the following' solid substance dispersion forces
exist?

(A) CO,
(B) SiO,
(C) HO

|
D) SO,
|

C-10
Rough Work
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23)

24)

25)

COA (09)

In a crystal of compound having molecular formula X, Y,
Y atoms are arranged as CCP, then what fraction of
tetrahedral voids will be covered by X atoms?

A 2
). 3

1
® 3
o 1
© 5
Dy >
® -

In which of the following defect some of the cations are
arranges in the interstitial site?

(A) Metal excess defect
(B) Schottky defect
(C) Frenkel defect

(D) Interstitial defect

From the following which type of magnetic substance
magnetite is known?

(A) Ferromagnetic
(B) Diamagnetic
(C) Antiferromégnetic

(D) Ferrimagnetic

C-10
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26)

27)

28)

COA (09)

Which of the following aqueous solution has highest boiling
point?

(A) 0.2mBa(NO,),
(B) 0.1 mNaCl
(C) 0.0l mNa,PO,

(D} 0.03 mKNO,

What is the weight to volume ppm of 0.05% w/v CaCl,
aqueous solution?

(A) 0.05
(B) 500
(C) 50

D) 5

Which of the following is appropriate for the solution made
by mixing acetone and carbondisulphide?

(A) AHmix <0
(B} Negative deviation from Raoult’s law
) AVmix >0

(D) Obey Raoult’s law

C-10
Rough Work

(P.T.0.



C-10
29) Which of the following will be possible in electrochemical Rough Work
cell obtained from E° =136V and E"Br _=1.09V?

Cly2C” [2Br
(A) 2Br +Cl,— Br, +2CI"
(B) 2CI +2Br — Cl, +Br,
(C) Br,+2CI —2Br +Cl,

(D) Cl +Br,—2Cl +2Br

30) On which of the following factor ionic conductivity of
solution does not depend?

(A) Nature of solvent
(B) Concéntration of electrolyte
(C) Nature of electrolyte '

(D} Size of molecules produce in solution

31) On charging of lead storage cell
(A) Solution becomes dilute
(B H,S0, of solqtion 18 consumed
(C) Pb at electrode is conswﬁed

(D) PbQ, is deposifed on one of the electrode

T T T T

"COA (09) 10
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32) What is.correct for /\',]H(NHAOH)‘?

33)

34)

33)

COA (09)

(A) ’\O{n(NHacU + A:Jn(NaOH) - A?n(NaCI)

(B) A;(Nmm) + A?n(NaCI) - A?n(NaOH)

(C) /\?n(NaOH) + A;(NH4C1) B /\;}n'(HC')

(D) A?‘n(NaCl) + Aﬁa(NH,,Cl) + A;(NaOH)

Which ﬁletal can be purified by liquation?
(A) Léad
(B) Tin

l
(0 Ir(i)n

(D) Niickel
|

Which method is not used for concentration of ores?

(A) Srpeltin g
|
(B) M'agnetic separation

(C) Froth floatation

(D) Hydraulic washing of complex

In which form of complex, platiﬁum is dissolved in aqua
regia? |

(A) [Pt (NO,)ClL ]~
(B) [Pft (NO,),Cl]
(&) [Pit ClLJ*-
©) [PLCLP-

11
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36) Which explosive substance is obtained, when proportion of

37)

38)

39)

COA (09)

dichlorine gas is more in the reaction of dichlorine gas with
ammonia gas?

(A) Nitrogen trichloride
(B) Nitrogen (II) oxide
(C) Ammonium chloride

(D) Ammonium chloride and Dinitrogen gas

Which of the following compound of Xenon possesses
square pyramidal structure?

(A) XeO,

(B) XeO,F,

(C) XeOF,

(D) XeF

6

Which of the following substance does not produce
Tritiodomethane with the mixture of alkali and Iz?

(A) Dimethyl ketone
(B) Propan—1-ol
(C) Ethanol

(D) Ethanal

Which compound will give unimolecular nucleophilic
substitution reaction easily with aqueous NaOH?

(A) C6H5'— CH,-CH,-Cl

(B) CH,-CH-CH,

|
Cl

Cl

|
(C) CH,-C-CH,

|
CGHS

(D) CH,—CH,-Cl

12
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40)

41)

42)

COA (09)

Which substance is added in chloroform before the use of it
as anesthetic?

(A) Ethyl alcohol
(B) Acetone
(C) Methyl Ethyl ketone

(D) Methylene chloride

Substance A ﬁ——) Isobutylene which is the structural

formula of substance A in this reaction?

(A) CH,-CH-CH,-CH,

|
OH

(B) CH,-CH,~CH,—CIL,—OH
(C) CH,-CH-CH,~OH
|

CH,

CH,

I
(D) CH,-C-OH

o
. CH,

How much litre of dihydrogen gas will be produced at STP,
in the reaction of ethanol with 12 gram Mg? (Mg = 24
gram /mole).

(A) 2214 litre
i

(B) 11i2 litre
|

(C) 2.24 litre

(D) 5.6 litre

13
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43) By which of the following reaction ether compound will be

obtained easily?

(A} (CH,),-C-ONa+(CH,),CH-Cl—
(B) (CH,),-C-ONa+CH.Cl—>

(C) (CH,),-C-ONa+(CH,),-C-Cl—>

(D) CH,—CH-ONa+CH, —CH-CH, >

| |
CH, Cl

44) Which type of polymer, Novolac is belived?
(A) Branched chain
(B) Linear
(C) Cross linked
(D)} Natural

45) Which option is correct for synthetic polymer?

=

(A) w2 My

<

(B) =M

=
\
=

©

=
=

=
A
<

Dy M. a

46) Which drug is non-narcotic and analgesic?
(A) Aspirin and paracetamol
(B) Morphine
(C) Penici]lin
(D) Veronal

COA (09) 14

C-10
Rough Work




47) Which type of detergent is LAS?
(i) Anionic (ii) Cationic (iii) Biosoft (iv) Biohard

(A) (i) and (iii)
(B) (i) and (1iv)
(C) (ii) and (i)
(D) (i) and (iv)

48) By which enzyme Lactose is hydrolyzed?
(A) Maltase
(B) Invertase
(C) Emulsin

(D) Zymase

49) By deficiency of which vitamin, pernicious anemia disease

is caused?

(A) Ascorbic acid
(B) Cyano cobalamine
(C) « - Tocopherol

(D) Biotin

50) Which linkage is proper for nucleotide?
(A) Base - phosphate
(B) Sugar - base
(C) Sugar - base - phosphate

(D) Phosphate - sugar - base

COA (09) 15
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052 (F)

(MARCH, 2019)
SCIENCE STREAM
(CLASS-XII)

(Part - B)

Time : 2 Hours] [Maximum Marks : 50

Instructions :

1) Write in a clear legible handwriting. :

2) There are three sections in Part - B of the question paper and total 1 to 18
questions are there.

3) All the questions are compulsory. Internal options are given.

4) The numbers at right side represent the marks of the question.

5) Start new section on new page.

6) Maintain sequence.

7)  Use of simple calculator and log table is allowed, if required.

SECTION- A
M Answer the following Q. No. 1 - 8 in brief. 2 marks for each question. [16]

1) Give reason : Electrical conductivity of silicon increases with increase in
temperature.

2) Explain the method to remove iron impurity from matte with chemical
equations. (Figure is not required).

3) Draw structural formula of pyrophosphoric acid and peroxodisulphuric
acid.

OR

Al O, is amphoteric in nature, mention it by chemical equation.

4) Transition metals and its compounds in solid state have catalytic property.
Explain in short.

5) Explain mutarotation in terms of glucose. (Structure is not necessary).

OR

What is peptide bond? Clarify peptide bond with example of dipeptide.

6} Give definition

COA (09)

a) Addition homopolymer
b) Degree of polymerization

16
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7

8)

C-10

Give the equation for preparation of biodegradable polymer of polyester
class. Which properties of monomers are there in this compound?

Compounds are given in column I and uses of compounds are given in
column II. Match compounds of column I with column IL

Column I - Column II
1)  Sodium Benzoate (P) Relief from acidity

2) Furacine (Q) To stop oxidation of food
3) Alitame (R) To remove dirt on surface
4) BHT (§) To protect food from fungus

(T) As an antiseptics
(U) Aurtificial compound used for
sweetness

SECTION-B

B Answer the following Q.No. 9-14 in detail, 3 marks for each question,

9)

10)

11)
12)
13)

14)

COA (09)

Calculate the value of cell potential of the following cell at 298 K.

©Pt | H,(1bar) | KOH (0.002 m) || HCI (0.005 m) | H,(1bar)| Pt®

(At 298 K temperature 1onic product of water is 1.0 x 10714).

OR
How many spoons can be electroplated by silver when 5 ampere current
is passed through electrolytic cell of AgNO, for 2.5 hours? Efficiency of
the cell is 80% and 0.01 gram Ag layer is deposited on each spoon.
(Ag = 108 gm/mole).

Completé the following reactions and balance it.
a) KMnO, +HCl —
b) NaSO, +HCl  —

3(s) (aq)
c) Ca3P2(s}+HCl(aq) -
Write following organic conversion with appropriate conditions in three
steps. 4-Bromo Aniline from aniline.

Write the difference between physical adsorption and chemical adsorption.
(any six points).

Write three different equations for preparation of corresponding alkane
from acetone.

Explain Hofmann reaction with two examples.

[18]

17 (P.T.0.)



SECTION-C

C-10

B Answer the following Q. No. 15 -18 essay type questions in detail. 4 marks
for each question.

[16]

15) Write Van’t - Hoff’s laws of osmotic pressure, give it’s mathematic
formula and derive a formula to find osmotic pressure.

16)

Write only chemical reaction for the preparation of following compounds

from phenol.

a) Phenyl acetate

b) - Benzene

¢) P - Bromophenol

d) 1, 4 - Benzoguinone

17) The following are the results of the three experiments carried for
determination of differential rate of reaction

A + 2 B — Product at definite temperature.

18)

COA (09)

Initia! concentration

Initial rate of reaction

of reactants mol lit™! d [A] ‘ ,
————= mol lit ! sec™!
dt
[A], [B],
1] 0.02 0.01 3.5x 107
0.02 0.02 1.4 x 1072
31 0.04 0.01 7.0x 1073

a) Deduce the differential rate law
b) Calculate order of reaction and
¢) Find out value of rate constant

OR

The rate constant of a reaction is 3 x 107 min~* at 27°C, at 47°C its value 1s
9 x 107 min™!, then calculate the energy of activation of the reaction.
What will be its rate constant at 308 K?

Explain the geometrical structures of tetra cyano and tetrachlorido
complexes of Nickle (II) on the basis of magnetic property.

- ROV
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4)
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This Question Paper contains 20 printed pages.
(Part-A & Part - B) '
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{ _ ‘ (CLASS - XII)
j Part- A : Time : 1 Hour/Marks : 50 0 9

Part - B : Time : 2 Hours / Marks : 50
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Set No. of Question Paper,
(MARCH, 2019) circle against which is to be
SCIENCE STREAM darken in OMR sheet.

’ (Part - A)
Time : I Hour] | [Maximum Marks : 50
) Instructions :
1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions

2)
3)

4)

5)

6)

are compulsory.

The questions are serially numbered from 1 to 50 and each carries 1 mark.
Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @ of the correct answer with ball-pen. y
Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

1)

BUA(09)

It is an example of animal who develop accessory Rough Work
respiratory organs to utilize atmospheric air when fresh
water dries up.

(A) Uromatrix
(B) Clarias

|
(C) Astacus

(D) Amoeba

1 C-12 (PT.0)



2)

3)

4)

BUA(09)

If any population has equal birth-rate and death-rate then

(A)

(B)

(€)

D)

_its age pyramid _X , vital index Y and population is Z

X = Bell-shaped

Y =100

Z = Stable

X = Triangular
Y=<100

Z = Stable

X = Urn-Shaped
Y => 100

Z = Declining
X = Triangular
Y=0

Z = Growing

Which of the following is correct for decomposer?

(A)
(B)
(©
(D)

Micro consumer, heterotrophs like bacteria

Micro consumers and release organic nutrients
Macro consumer, heterotrophs like fungi

Micro consumers and prime source of energy for all
food chain

Select correct option for the "P" and "Q" in the given chart
of a biological magnification of pesticides.

(A)
(B)
©
(D)

Fish eating birds —  "Q"

T T
Large fishes ~>» "2ppm”
T T

Small fishes - "P"
1 T
Zooplankton — 0.04ppm
T T

Water bodies - X
P =0.25 ppm, Q = 0.04 ppb
P=0.5ppm, Q=25 ppm
P=2.5ppm, Q=25 ppm

P =0.04 ppb, Q =2.5 ppm

C-12
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5)

How many molecules of ozone can be decompose by 6 atom
of chlorine?

(A)
(B)
©
D)

3,00,000
6,00,000,000 |
1,00,000
6,00,000

6) What is correct for sympathetic nervous system?

7)

BUA(09)

(A)
(B)

©)
(D)

Known as house-keeping system
Usetul in emergency situation

Acetyl - choline is neurotransmitter

Preganglionic fibres are longer than post ganglionic
fibres

Which option shows correctly matched pairs for Column - 1
and Column - II?

Column -1 Cotumn - 11
P} | Planeria 1) | Fragmentation
Q)| Sycon if) | Fission

R)| Starfish iii)| Spore formation
S)| Plasmodium iv)| Budding

(A) (P-iv) (Q-ii) (R - i) (S - iii)

B) (P-i)(Q - iii) (R - ii) (S - iv)

©) (P-iv)I(Q-1) (R - ii) (S - iii)

(D) (P-ii) (Q-iv) (R-1i) (S - iii)

C-12

Rough Work
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8)

)

10)

11)

BUA(09)

Which is correct option for sertoli cells?
(A) It provide nutrition to sperms

(B) It secrete testosterone

(C) It secrete seﬁ)en

(D) It activate sperm

Select correct option for nucleic acid.

(A). For transmission of genetic information DNA 1s better
(B) DNA can be mutate, RNA can not be mutate

(C) Both DNA and RNA can function as genetic material

(D) DNA can directly code for protein synthesis

Thorns of Bougainvillea and Tendril of cucurbita are

. homologous organs because of

(A) Similar function and different embryology

(B) Similar embryology and dissimilar functions

(C) Similar embryology and similar function

(D). Dissimilar embryology and dissimilar function

It is use for the entry of desired gene in Animal cells?
(A) Retro virus

(B) HIV virus

(C) Rhizobium

(D} None

C-12
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12) Which of thé following is palindromic sequence of bas

13)

BUA(09)

pairs? '
(_ D
w |
T A T G C A
I
A T A C G T
1 |
C : >
®) ]
C T A T A C
o
G A T A T G
C D]
. ]
©)
C A A C G
-
C G rl\‘ T G C
o ] )
G C A T G C
R
C G T A C G
C l ‘ D

Milk produced by first transgenic cow “Rosie” is rich in
protein

(A) Alpha - Lactalbumin, 2.4 grams/litre

(B) Beta - Lactalbumin, 2.4 milli grams/litre

(C) Alpha - Lactalbumin, 2.4 mill: grams/litre

(D) Alpha - Histone, 2.4 grams/litre

5
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14)

15)

16)

17)

18)

BUA(09)

How many molecules of ATP are required for the synthesis
of 5 molecules of glucose during calvin cycle?

(A) 180 (B) 45
© 90 (D) 05

Select correct option for the process of decomposition.
a = Fragmentation
b = Catabolism

¢ = Leaching

(A) b>c—a B) a—»b—oc

(C) c>b-—-a (D) a—>c—b

What will the number of chromosome in haploid cells of
potato?

(A) 48 (B) 24

) 12 (D) 06

During spermiogenesis, what is produce from distal
centriole?

(A) Proacrosomal granule

(B) Acrosome

(C) -Axial filament

(D) Vacuoles of Golgi complex

What does 'X' represent in the given diagram?
2 Equilibrium
w 2
© 3
g 2
£5| /X
S £
Z v —
Time —

(A) Logarithmic phase
(B) Negative Acceleration
(C) Positive Acceleration

(D) Fluctuation in population

C-12
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19)

20)

BUA(09)

What is correct for the Net primary productivity?

(A) NPP = Respiratory Loss -~ GPP
(B) NPP = GPP + Increase in Biomass
(C) NPP = GPP + Respiratory Loss
(D) NPP = GPP - Respiratory Loss

Full form of GMO 1s

(A) Genétically Modified Organ
(B) Genetically Modified Organism
{C) Genetically Made Organism
(D) Genetic Mode of Organism

In Mature Insulin A-chain contain X aminoacids, B-chain
contain _Y_ aminoacids and C- peptide is Z .

(A X=21

Y =30

Z = absent
(B) X=21

Y =30

7. = present
(C) X=30

Y=21

7. = absent
(Dy X=30

Y =51

Z = present

C-12
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29) In the given diagram of urine formation, Which process
occurs in X and Y?

(A)

(B)

©

D)

X = Tubular secretion
Y = Pressure filtration
X = Tubular reabsorption
Y = Tubular secretion
X = Tubular reabsorption
Y = Pressure filtration
X = Pressure filtration

Y = Tubular secretion

30) Inflammation of synovial membrane is main symptom of it.

BUA(09)

(A)
(B)
(<
(D)

Rheumatoid arthritis -
Gouty arthritis
QOsteoarthritis

Osteoporosis

10
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31) Which option shows correctly matched pairs for Column - I

and Column - 11?

Column -1 Column - 11

i) | Amensalism P) | Beneficial to one,
detrimental to other.
ii) | Predation Q)| Beneficial to both.

ii1)| Commensalism R) | Detrimental to one,

. unaffected for other.
iv) | Mutualism S) | Beneficial to one,
Neutral for other.

(A) (i-R)i-P)(ii-Q)(v-8)
(B) (i-R)(ii-S) (iii- Q) (iv- P)
(C) (i-P)(ii-R)(ii-Q)Gv-S)
(D) (i-R)(i-P)ii-S) (v-Q)

32) What is correct for CAM Plants?

33)

BUA(09) |

(A) An adaptation for hydrophytes

(B) CO, at day time is released from inorganic acid

(C) CO, absorbed at night and get converted into
inorganic acid

(D) Stomata remain open at night

Select the correct option for the given statements

[Where a = Columbia, b= New York]

Statements :

X = Number of birds species in "a" is higher than that in "b"

Y = More solar energy is available in "b" than in "a"

Z = Productivity in "a" is higher than in "b"

Options. |

(A) X and Y are correct and Z is wrong

(B) X and Z are correct, Y is wrong and Z 1s correct
cxplanation for X

(C) X, Y and Z are correct and Y and Z are correct
explanation for X

(D) X and Z are wrong and Y is correct

11
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34) Ttis known as “Terror of Bengal” Rough Work
{A) Eichhornia crassipes
(B) Ocimum sanctum
(C) Clarias gariepinus , .
(D) Polyalthia longifolia ' \T

35) Individual "P" has difficulty in controlling visual reflexes
and Individual "Q" has disorders associated with
temperature and pain. Then, which part of brain is expected
to be abnormal.

(A) P = Inferior Colliculi
Q = Middle Parietal lobe
(B) - P = Superior Colliculi.
Q = Inferior Colliculi
(C) P = Superior Colliculi _
Q = Middle Parietal lobe -
(D) P = Occipital lobe
Q = Middle Parietal lobe

36) Select option with correctly matched pairs for Column - [
and Column - IL

Column - [ Column - I1
i) | Juxta glomerular cells a) | Somatostatin *
ii) ; P-Cells of pancrease b} i Glucagon
111)| o-Cells of pancrease c) | Erythropoietin
iv)| Delta Cells of pancrease d) | Insulin

(A) (i-b) (i - c) (i - a) (iv - d)
(B) (i-a) (i - d) (iii - b) (v - ¢)
(C) (i-a)(i-b)Gii-d)(@Qv-c)
(D) (i-c) (i - d) (ii - b) (iv - a)

BUA(09) 12



37)

38)

39)

40)

- 41)

BUA(09)

In the given diagram, which organ shows Vegetative

reproductio:n?
|

(A) Root (B) Leaf
(C) Stem - (D) Axillary bud

Select correct option for the Embryo sac of angiosperm
plants.

(A) Three diploid (2n) antipodals are present at chalazal
end :

(B) It has cenirally located triploid secondary nucleus

(C) Endosperm tissue is produced before fertilization

(D) Egg apparatus with two haploid synergids and one
haploid egg cells

It remove genetic dwarfism
{(A) Cytokinins (B) Auxins
(C) Gibberellins (D) ABA

Embryo after first 8 weeks development is called
(A) Morula (B) Blastocyst
(C) Foetus (D) Corpus Luteum

In hormonal contraceptive method pills are given orally

for, f consecutive days beginning on the 5* day
of the menstrual cycle.
(A) 21 | (B) 7
© 5 | (D) 14
|
' 13
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42)

Select correct option for the given statements.
Statements.
X = Father 1s colour blind

" Y = His daughter can be colour blind or carrier for colour

43)

44)

45)

46)

blindness

Options.
(A) X is correct and Y is wrong

(B) X and Y both are wrong
(C) Y is correct and X is wrong
(D) X and Y both are correct

Only genetic code with the dual function is
(A) CCC (B) AUG
(C) UAG (D) UGG

Which theory states, “life arises from pre existing
organisms’?

(A) Theory of Eternity

(B) Meteorit Theory

(C) Theory of Catatrophism

(D) Biogenesi's

amp® Gene has recognition site for
(A) Pstl (BY BamHI
(C) Hind III (D) Sall

Select correct option for the toxin produced by Bacillus

~ thuringiensis.

BUA(09)

(A) It makes mid gut cell impermeable
(B) It 1s produce in its active form
(C) Active toxin is crystallized form

(D) Active form of it get bind to mid-gut epithelial cells

14

C-12
Rough Work




47) The concentration of Macronutrients in dry weight/gram

1s .
(A) More than 100 mg (B) 0.1to 1mg
(C) 1to10mg (D) 20to 40 mg

48) Who stated !thﬁt green substance(chlorophyll) located in

49)

50)

BUA(09)

special organelle (chloroplast) of plant cell produces
glucose?

(A) Ingenhouz (B) Cornelius Niel
(C) Julius Von Sachs: (D) Black - Man

What does “X” and “Y” indicate in the given chart?

Active
. X
JG Cells
i Angiotensin I
i
| Angiotensin 11
(A) X - Renin (B) X - Erythropoietin
Y - Al:dosteron ' Y - Angiotensinogen
) X- V£|tsopr'essin (D) X -Renin
Y - Angiotensin Y - Angiotensinogen

Select correct option fot the given statements in reference

| i
to muscle contraction.

Statements.

X = Actin }slide over myosin
Y = Light meromyosin join with actin
Z= Myosin and Actin actually do not contract

Oplions.
(A) X,Y and Z three are correct

(B) X and Y are Wrong, Z is correct
(C) X and Z are correct and Y is wrong
(D) X andY are correct and Z is wrong

15
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056(E)

(MARCH, 2019)
SCIENCE STREAM
(CLASS-XII).
\Ti
(Part - B) ‘
Time : 2 Hours] [Maximum Marks : 50
Instructions :
1)  Write in a clear legible handwriting. ' ‘
2) There are three sections in Part - B of the question paper and total 1 to 18
questions are there.
3) All the questions are compulsory. Internal options are given.
4) The numbers at right side represent the marks of the question.
5). Start new section on new page.
6) Maintain sequence,
SECTION - A
B Answer question No. 1 to 8 as directed. Each cjuestion carry 2 marks. (16]
1) Explain Photoperiodism and discuss it in Xanthium and Cucumis.
4
2)  Write chromosomal disorder in Down’s syndrome and write any three
symptoms of it. '
3) Write any four points of differences between cyclic and non-cyclic
photophosphorylation.
4) "Biodiversity conservation is todays prime requirements”, Explain it with
suitable example of food chain.
5) Explain culmination of pregnancy in human.

BUA(09)

OR

Explain structure of wall of uterus,

16



6)

7)

8)

®  Answer question number 9 to 14 as directed. Each question-carry 3 marks.

9)

10)

11)

12)

13)

14)

BUA(09)

C-12

Discuss Statement : The nature of nitrogenous waste and their excretion
depends on availability of water. Explain it using any two examples.

OR

Discuss Statement : Counter current mechanism in Vasa recta helps in
maintaining concentration gradient in renal medulla.

Write comp?rativc note on hind limb and fore limb of human.

Describe Causative agent of Genital herpes and write symptoms of Genital
herpes. (any three) '

SECTION-B

[18]

Describe holm‘lones of Adrenal Cortex.

Describe regulation of respiration in human.

Explain Transpiration pull theory.

Draw labelled diagram of internal ear and explain mechanism of hearing.
Explain Central dogma concept with chart.
|
OR

Write any six salient features of HGP.

Discuss the basic structure of alimentary canal wall and explain
differences found in various regions of alimentary canal.

17 (P.T.0.)



C-12
SECTION -C

W Answer question No. 15 to 18 in detail. Each question carry 4 marks. 116]

A

‘T

15) Explain all the phases of blood clotting mechanism in reference with
extrinsic path-way.

4

16) Discuss role of chromosomes other than sex-chromosome in the
determination of sex.

OR

"Complete linkage is rare" explain it with suitable example.

17) Draw cyclic chart of Kreb cycle and explain its reactions from pyruvic ‘(
acid up to 5-carbon containing acid formation.

18) Explain embryonic development in angiosperm plants. Draw labelled
diagram of heart shaped Embryo.
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SCIENCE STREAM

(Part - A)
Time : 1 Hourf [Maximum Marks : 50
Instructions : '
1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions

are compulsory.

2} The questions are serially numbered from 1 to 50 and each carries 1 mark.
3) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O and (D) 0. Darken the
circle (@) of the correct answer with ball - pen.
4) Read questions are carefully, select proper alternative and answer in the
O.M.R. sheet.
5) Set No. of Question paper printed on the upper - most right side of the
Question paper is to be written in the colamn provided in the OMR sheet.
1) wadiaeEs e ?
(A) wrggm™ (B) "=
© ¥ (D) TG
2) sew@ypha@ma...... L uet
(A) @
(B) ey
(C) Tormom .
(D) TRy

SXA (09)
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3)

4)

3)

6)

7)

8)

SXA (09)

What is the best happiness of life?
(A) Food

(C) Health

What is the meaning of ‘feredt’ ?
(A) Tree

(C)y Creeper

(B)
(D)

(B)
(D)

Exercises

Wealth

Forest

Flower

Where had Rama gone leaving Janasthana?

(A) Chitrakut

(C) Kishkindha

What is the meaning of ‘Trad’ ?
{A) To do Charity

(C) To do Suppress

Framem & wmaf?

(A) T
(C) fim=:

HeE=h fmm: @: aenige atem: ?
(A) ufere:

(C) <hrh:

(B)

(D)

(B)
(D)

(B)
D)

(B)
(D)

Ayodhya

Lanka

To do Jealous

To do Conserve

C-15



9)

10)

11)

12)

13)

14)

SXA (09)

i C-15

éﬁmﬁmﬁﬁ:mm:?
|

(A) wefeon | (B) wWUQ

(C) T FEwIRTea™ (D) wEmo firsmn
RfCTaRl e I, TR ?

(A) =M™ (B) wHFH

©) ﬁ:aﬁqaw‘; (D) affsm
W: wEH; o dEata?

(A) fegmeen (B) =¥

(C) =y - (D) UREH

On which day Maharshi Dayanand died?
(A) Navratri (B) Dipavah
(C) Vij aya(iashami (D) Shivratri

From which book has the lesson ‘31'ramavim:\’ been taken?

| (A) =t ‘ (B) wafan

(C) WeowHicHq (D) T

Which Nyaya says that who he joins his business and does not become
victim of any disaster?

(A) W-QIT-I?JW (B) Iwgfe-am:
© qaﬁ'agawm (D) TSRS
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15) ‘=&: wft faderm miftmt =@ fagam ' - Which figure of speech does the

sentence suggest?

(A) fema:

(B) w +
(C) Ieri=ma:

(D) =TEgfa:

16) vy weg Ay fh fovsan?
(A) el

(B) wI=:
(C) daraes:

(D) g e

17) OEam ....oocevveeene.

SXA (09) 4
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19)

20)

21) SUFEE AR v l

SXA (09)

What is best in wealth?
(A) Scripture

(B) Knowledge

(C) Weapon

(D) Gold

WWL

(A) 3
(B) M
(C) et

(D) @

(A) WER
(B) TwgEmm:,
(C) Sl |

(D) wera: |

C-15
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23)

24)

25)

26)

SXA (09)

C-15
WU AWM ~ constitution belongs to which metre?
(A) wvren:
(B) awfeeTaR
(C) Prafwft
(D) st

Among the following which is the vedang?
(A) weq:

(B) =g

(C) 3wy

(D) e

In which epic the essence of sorrow is the inspiration of writing it?
(A) TmEO

(B) wETHRd

(©)  shwgrrargficn

(D) WETEa g

In the epic of ‘Shishupalvadham’ which mountain is beautifully described?
(A) v

(B) Twww

(C) firm

(D) TwiR



et

27) Higeh w==oae

(A) uwhrEn ‘
(B) wasmierhy
(C) wezgmm

(D) sreamIferht

28) aag@u%m:a;sﬁm:?

(A) T
(8) e |
(C) wasA™
(D) ¥

29) wavr frm Iaitsea dia gm?

(A) "M
(B) =W
(C) vynam |

(D) #ign,

SXA (09)

(A)
(B)
©

ESE R

D)

AL o FHerIaHT ?
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31) ymferwmt whenet 75 wwi s ?

(A) arfm:
(B) &
(C) =ue:

(D) vIeTTeRt

32) Which is the name of Hero and Heroine in drama ‘gege{esq ?

33)

SXA (09)

(A) wreew-3E

(B) wifiorer-—wafent
(C) wmeew-aHaE
(D) e ’

Which king appointed great poet ‘Bann’ in his court?
(A) oied

(B) gHasA

(C) i

D) fomeen

Who wrote the book ‘Panchsiddhantika’? ~

(A) amEETR
(B) qyEwE
(C) amwg f

(D) W



C-15
35) Who wrote « ‘3TSTEITEaaT ?
(A) ST
(B) =mwg
(C) wurnty
(D) waf

|

36) ‘aw-gfufst @A’ is taken from which ‘Parv - & of Mahabharat?
(A)
(B) s
(C) vreawd
, (D) e

37) What is the meaning of ==g<gg:"?

&<

(A)
(B)
(©)

(D)

Sun
Moon
Shiva

Vishnu

~r 38) What is the head of the eldest Brahma called?
(A) v,
(B) swatem
(©) feem .
(D) =&

SXA (09) 9 (P.T.0.)
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39) et Gt e AT ?

(A) TEEEERH
(B) IIEwHY
(C) TIeTETaRy

(D) TAHAEH

40) JEETUTA: SH T ?

41)

42)

SXA (09)

(A) FehaTE

B) frafrem

(€) wifeherT,

(D) oA \
-

Vertical line — (I) indicate which ‘&' ?
(A) e

(B) vam

(C) wfa

(D) yuifeem

Among the following which is the sanskrit synonym of the word ‘ ==:"? \Tf
(A) =see:

(B) farer:

(C) Fromem:

(D) 3mwiER:

10

T



43) g Frefa ?

44)

45)

46)

SXA (09)

(A) =

(B) reume
(C) aE=Ta
(D) Tewaeh

Tt T’ — g I T6: b A
(A) HRe: sy

(B) HeAWl Wag

(C) =A™

(D) T A

Which figure of speech is used in ‘Pranamanjali’?

(A) Icoerm -
(B) &= '
(C) Zum |

|

(D) =afis

|
‘g g g 3fa’ lesson is taken from which ‘Fafiwg’?

A) v
(B) @ |
© T
(D) vmarea

11

C-15

(P.T.0.)



47)

48)

49)

50)

SXA (09)

Give the opposite word of “Fqur:’
(A)y 3

(B) B

(C) =

(D) &"

HHTET WA gyl Fdq ?
(A) weioEg

(B) #req

©

(D) e

wgHiad: wem o ?
(A) &=
(B) =

(C) =mHs:

(D) w&@

forfeer s fimm 7
(A) wrd
(B) firwe
(C) i

(D) 3

12

C-15
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129(E)

(MARCH, 2019)

SCIENCE STREAM
(CLASS - XII)
(Part - B)
Time : 2 Hours] [Maximum Marks : 50
Instructions :
1) Write in a ¢lear hand writing.
2) There are four sections in Part - B of the question paper and total 1 to 21
questions are there.
3) Allthe que;stions are compulsory. Internal options are given.
4) The numbers at right side represent the marks of the question.
S) Start new section on new page.
6) Maintain sequence.
| SECTION- A
|
* aeitaRere @ wvsw SgaR FEal [4]
1) T9HA:- A E%ﬁﬂl T foh Sl‘éﬁ'\ﬂqﬂ\l
giifga:— vl T v o qgeensnres anfaenta smrifon geiiemsn: sismmerm:
YHUTAT: ARG APOaT Wat= | 370 TATge! 3 1Y dY 1y e
efeel T, ST Al U1 FAI — el deicaeh iod waile |
St T gewed qrigyiAuiem wafd |
| e
T9: IafEe: ToRTEETay: quferhT god a9 ¥ SwRut g Hafeaar |
Juea FEeIET: 9ga1 e FReTe qRiete i Jeass 9 © HR0l [
T ;U Shisi T W A19Ed | FatsH 9: dehd wie gRidaar |
* ggifefamm sme8d afdtn wvAAm swufn wega-wmrE faem | (4]
2) e gaes W HEET TSRS TR 31HEd | a6 fum wem B ar
¥ SRR ITE | U areaTel T JevrEE 3 AeRtun e | see
s evgeed faargd wea fuen wftm srta | foeg T geo o Aiem |
w: e Rrae wreeas fued 18 e |
SXA (09) 13 (P.T.0.)



Ty

®) Weltigar<e 971 §3 AW ?

Q) wEigamew gaam fag s 2

n) wEiicamew fUg: oy o AW e sl ?
u) wgiiear: frmel em seear

*  graifafigamt wsamm swofn wmwE fereml

3) Why has paper currency become inevitable?

4) Why had Kaikeyi asked for Rama’s exile in a forest?

SECTION - B

* aeifafgat g wgEEEW AR $Edal

5) wiems fara st e it ag s | T |

iAo gt i TRETE Hacrel watd et ||
e

TR | Tgie aeraddem |
By = TR wgeR g a1
feemarar foremer steatgTay A W |
7 A Fentfheai s Faferere: ||

*  gmiferfgami nmmﬁl Ty feaEm|

6)  In which guru does the poet see the quality of leaving at a proper time?

7)  Who bears only the name?
* soiteea qfd: fagaan
I Gl B0 SO !

SXA (09) 14

C-15

14]

14]

(4]

2]

5
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*  gefformn g%a ll
9) nfaeRR 79 Fe §:E aREd A |
it S i A Fe T T A

SECTION-C

*  gefienfarst feoandi faem |
10) Moral of the lesson - uferen adialt |

| Fgar/OR

Sign making replica impossible.
11) - A guru as a means of acquiring the Knowledge.
*  gueed wdiwm gEa|

12) =9 Wi &t fagm: |

13) mm:aﬁg%ﬁgmql
| st
fh ¥ TR

* ﬁamﬁaaiﬁc&ﬁﬁﬁml

14) R
15) gu=:

SXA (09) 15

C-15
[2]

[6]

[6]

2]

(P.T.0.)



SECTION-D
*  ofraarferet foaoff frem | S (2]
16) wgrRey
3T
FHTETHE,
17) R [2]
Yl
TryrareTaum
18) Write the eight names of Ayurveda’s branches. [2]
¥ quEEn el
19) Explain : 37%&=m4: | [2]
20) Explain figure of speech ‘¥ei®’ with example. 2]
21) Explain the metre ‘WgefeBhItea™’ with example. [2]
36 36 36

SXA (09) 16
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This Question Paper contains 20 printed pages.
{(Part - A & Part - B)

SI1.No. 0930122 (56(G)

(MARCH, 2019)
SCIENCE STREAM
(CLASS - XII)
Part-A : Time: 1 Hour/Marks : 50
Part - B :-'Time : 2 Hours / Marks : 50

N3 Yurel A2 Ao el
A ada OMR slleni

ug sl W B,
Set No. of Question Paper,
circle against which is to be
darken in OMR sheet.

09

| | (Part - A)
Time : 1 Hour|

YA :

[Maximum Marks : 50

1) 20 e oA U Rgaell usrAL 50 33l 8. ot o usl RErud B,
2)  weldl &3 aiva 19150 8 @ s uadl o0l 1 8.
3) siamyds €25 -l 2o 53 Wl [Qsey wals s34 OMR 2llaal sveust

avidl,

4) 2yl el 2l OMR Wisi @ & ¥4 -oR WA (A) O, (B) O, (C) O, (D) O
lal 8. d Wl @ oreet URY €U At Rsew wredl adul oled-ell ygl

uz @ sllv e

5) % Bl &g 2 222 opsdeul 2l oy W sReu WAL

6) Al G-l evugll oyl 2ulal uawes Az A A OMR wasui 2l

UL vl 8.

1) d svougii well Ysis od qmm@'lq g Mt 2| g sl

ek Rl B 8.
‘(A) Rl
(B) salzux
(C) 22y

(D) 2pdlen

BUA(09) 1

C-12 (P.T.0)



2)

3

4)

BUA(09)

(A)

0 21 il sy-er # eyer vl it dl A - BB X,
e yas 82ls 2Uis Y 2 auld Z
(A) X = 215R
Y =100

 Z = dHdan
(B) X = Bseusik
Y = <100
Z = Wgart
X = Glaw usisi
Y =>100
Z = 92lsl
X = Bsleusi
Y=0
Z = 48Rl

(C)

(D)

ARzl Rues w2 0 49 2

(A) Ha Guololl=dl, Erordnll szst sre s AiseRla

B) ya Guelipled #iA wilerend sieiRs s gl s 51 8.

(C) wsiGuololizdl, Frprindl e £l

D) Y& Guellladl 2 oiell o usia-dl At vl e e
Glod wlld ©.

svitdletl 735 Ronart wiz 2t el P 2 QT e
ARD [QAsed WiE 3L

yodlerd vl - “Q
1T T

Wel %{l&%ﬂ@l -

Al wedl —» P
T T
well wasi — 0.0
T T
el - X
P = 0.25 ppm, Q = 0.04 ppb
P =0.5ppm, Q = 25 ppm
P=2.5ppm, Q=25 ppm
P = 0.04 ppb, Q = 2.5 ppm

(B)
(©)
(D)

C-12
s 51

o




C-12
5) sl 6 uRAE) gRL 2A3IAAL S2all 2Aepdl, [Baed ud s 9 ¥ s1d
(A) 3,00,000
(B) 6,00,000,000

¥

(C) 1,00,000
(D) 6,00,000

- 6 il Az s ue B 0
(A) el seay 8.
(B) “seisél AU vt Gualell ©.
(C) 2AR2idd sld-Adiins geu.

Y

. (D) Y Aciseld dg 4zl Aciseld dg sl died 4 8.

7) sl - T 244 sl - 11 el el sAs gxtladl Al Bsey wrig s,

sid™ -1 sl - 11

P) | w3l i) | 2tervisn

N Q) it ii) | [Qousy-
.\_ R) | ari-wwdl iii) | eAloniiosa

C e S) | sl iv) | sl@stsi
(A) (P -iv)(Q-ii) (R -1)(S - iii)
(B) (P -i)(Q-iii) (R - ii) (S - iv)
(©) (P-iv)(Q-i) (R -ii) (S - iii)
D) (P -ii)(Q-iv) (R-1) (S - iii)

BUA(09) 3 P.1.0)



8) il sl M2 sl [Bsey w8 9 3% i
(A) Qs WHEL YR uB B
(B) a2l s 8 9.
(C) A el 24 52 8.

(D) o yyssitllA Griwa 2 9.

9) <yfas AR w2 Wl [Bseu wie 52U -~
(A) s 2Rl 2uqicreL 12 DNA o 4 9.
(B) DNA [@sld url 2, RNA Eigld wpict -2l

(C) DNA A~ RNA ot oyeflrt gort aills 51 53 ©.

(D) WA FaeL w2 DNA el o 23t 31 215 ©.

10) “loirdd-L 528l 2t gsroflaidl Yol wyds 200 B sreL S
(A) LA S 247 21IA 216l
(B) A3t 2ACRAAL 2 iRAHIA 514
(C) A AACRAAL 2L WA 1

(D) AU 2U6RAAL Ve BRHIA 51

1) Qs SR sredlnnl kL w2 2ieis .

(A) A
(B) HIV «uu
(C) ASAUeun

(D) 2uld 25l 1dl

BUA(09) | 4



12) WA= ls Sutcirl Aol s we 54 Y © 9

13)

BUA(09)

(A)

(B)

(€)

U, WRey [R5 2ud (Rosie) Higl Hrel gaul

(A)
(B)
(©)
(D)

C

; |
Faddda
T
SAEEE
|\

T T T T
T
|
SSA5E
= —
GCA}]'-'-\'(]:G
-
(,;GT"!J“'GC
| | 3
[ |‘ b
G C A T G C
T O
CGT/|\CG

&5 Q&Zl@ﬂﬂd, 2.4 gm/litre
o{lel (1521(—0*;1}{'1-1, 2.4 mg/litre
BIesl Aszicolld, 2.4 mg/litre
et Jrd, 2.4 gm/litre

WA 1L 9.

(P.1.0)



14)

15)

16)

17)

18)

BUA(09)

3@ A5 50U TgSlotedl 5 QAL AFANR U2 ATP Al 32all
w1l © 9

(A) 180 (B) 45

(C) 90 (D) 05

[Cee1l i e AR [Csed wiE s
el a = v

b = B{uAY

¢ = dldit
(A) boc—>a (B) asb-c
C) ¢c5>b-oa (D) a—>c—>b

Aetsiell Dl Sl P 2ot ol 4 B 2
(A) 48 (B) 24
(C) 12 (D) 06

21sSlsyeirtll (L EIA §RR ARBrg) 3 et © 9
(A) nus sl -

(B) usia

(C) izl dg

(D) 2le{lstiAl el

2l X g el ® 9
A HHgar
e[l
wl
« X
—> WY

(A) appRsla dest

(B) “tUcHs UL detssl
(C)  Grllcds UL deAssl
(D) AL <R - =St

C-12
W s




19)

20)

21)

BUA(09)

ciRellds WAMS Geugsdl Hi2 UL [Esey uig 52U,
(A) NPP = %2l Bruq dlél «3a ue - GPP
(B) NPP = GPP + sysieiiR ™ el udl gfig

(C) NPP = GPP + *ua-} A clle 24 g2
(D) NPP = GPP - -l B dla a3 g2

GMO o Y&l A ..........

(A) Genetically Modified Organ
(B) Genetically Modified Organism
(C) Genetically Made Organism
(D) Genetic Mode of Organism

Yod 6@3[&@[ A il X 2RI, B Sl Y SRS
e C - YRGS = 7, 61 .

(A) X=21

Y =30

Z = ARSIR
(B) X=21

Y =30

Z = ¢I5R
(C) X =30

Y =21

Z = AReISvR
(D) X =30

Y =51,

7 = oz

C-12
% S

(P.1.0)



22)

23)

24)

BUA(09)

Rl Asen wriE $3l.
(A) el ddrg0l o, dl W, o 4 44 9.
(B) W, 4t He ARSI s D.

(C) sl S WSRL UR W, o] e w2 B,

(D) €l FoUgL inl PURYAEL wiEHIrL A Wi (Bl L B,

sl Geulgr 24 ABRIAL Al B21sL Fell 2L gR 524 oyl
54l 3Rl GRL 522l 9

(A) N,S

(B) Fe.Mn

(C) CLB

(D) Zn,Cu

g 245l 24 ‘e’ gL FERIA oot e 20l [Aseu waie
s3L. o

(A) C,ua, s #ARs

(B) C, v, 3°sl (RuBisCo)

(©) €, WAs ARS-d-stollsosds
(D) ustel A, 3oRsl (RuBisCo)

C-12
s sy




25)

26)

27)

28)

BUA(09)

Eel(As u M2 2N [l qal Rl Qe 12 1Rl
[eisey g S3U

I - [ARsr et el U 2Rl UL UL B,
11 - stodiEct], Pl udtic udal gslal 3uicrel s A,
I - W2 30 AR 31 Huq 2l w6l 8.

IV - WA 2 [Qfse] 2ARBA 247 (Faler =i A ueidl

UsnAA .
(A) LILII (B) LILIV
(C) ILIOLIV (D) HLIV

3B wemel] gt WG 53 8L Al WEAAL Wil
WA 53 & 9

(A) & (B) el A=
(C)  Zhxdlior- (D)' gha{ln
A A3 d-rurded Rad iy (IRV) ......... Al a2 €l 8,

(A) 2500 ml. &l 3000 ml.
(B) 1000 ml. &l 1100 ml.
(C) 1500 ml. &l 1600 ml.

(D) 3000 ml. &l 3500 ml.

UL DS BEU As BRI FUSHL §e B2l WA I SR U

N

O ?
(A) 0.10 As=S (B) 0.40 As-5

(C) 0.50 As=$ (D) 0.70 As=s

C-12
% 51

(P.T.0))



29)

30)

BUA(09)

w2 (Aol 2ugldnt <X 2 <Y 5§ Baam 8 9

(A) X = Qs =0t
Y = €101 1AL

(B) X = lAst yrt:aimgl
Y = «last e

(C) X = l@st yraiugt
Y = €14 2unL

(D) X = €l

Y = Qs 28t

ARAEHA s Alod 2uLeel 2 A Yod @dwL S,
(A) 308 »uaAlslu

(B) G x=idlen

(C) R4 2u2iglu

(D) 2Rl Rl

10

C-12
2§ s




31) Slett - TR Bl - T u2 2fl ek eaidaidl A [Bseu e .

32)

sldM -1 s\d3 - 11

wamad | P)| =i cwet edlsad st
YRGLESL Q)| vt @t
Asellyal R) | ®isA seut oflond 221 ucdl 9l

YRURAL S) | sl cret ofleant 2R Ul Hell.

(i - R) (ii - P) (iii - Q) (iv - S)
(i-R) (ii - 8) (iii - Q) (iv - P)
(i-P) (ii - R) (iii - Q) (iv - 8)
(i-R) (ii - P) (iii - 8) (iv - Q)

CAM arRufd2ll M2 3w © 2

(A)

- (B)

33)

BUA(09)

©

(D)

sl st W2 st 8.
CO, [kt gzt isielirs ARl 3 &,

CO, 4 B e 2lngL AL & it wasiellRs AR
Ui Uy B,

Ry AR £ vl 28 ©.

20 (G 32 el Riseu wris SR (sl a = SAlBAL, b = *45)

[Sedn

X = <7 s el salddeAdl v “b” skl ay .
Y = “a” sdll “b” M a8 4 Glod ur A ©.

Z=°

(A)
(B)
(©)
(D)

‘a” ol Geulgsdl “b” s3etl 4y, ©.

X wirl Y 212 @A 7wl 8.

X 2N Z 1], Y- wiA 7 3 X+l 2002l e 240 8,
X, Y AN Z 02 @A Y il Z X oAl 2Rl e 240 9,
X A Z vl w1 Y U,

11

C-12
% s

P.T.0)



34)

35)

36)

BUA(09)

a 2R 2l cbud’ o sagllg ©.
(A) S Yeldlet

(B) {dluH Asen

(C) st ARy

(D) Wl <ﬂr€9ﬂ<{l$u

s P’ A g3l uiadl Bl [Heirerl asdls § 24 4l ‘Q’
A Al 247 £l et Heddll dsells ©. dl Wl 541 el
Wil el il 8 9

(A) P = $E3ka Sedlsycdl

Q= Ho suidl vis
(B) P =yl sldlsyel

Q= 3R sldlsydl
(C) P =yl sidlsyel

Q= He swdl vis
(D) P =z swell vis

Q = W swidl vis

Sl - T 24, Sl - 1T Al 2020 s seiladl 2o [sey uais s30

Sl - 1 Sl - 11
i) | ¥Rel Bz SN a) | WA
i) | reugllsni p-sisd b) | xyswli
iii) | eugfisnl o-sial c) | 2ARAMGEA
iv) | Reghisdl deei-sil d) | d=yfan

(A) (i-b)(ii-c)(iii- a) (iv - d)
(B) (i-a)(ii-d)(ii-b)(iv-c)
(C) (i-a)(i-b)(ii-d) (iv-c)
(D) (i-¢) (ii - d) (i - b) (iv - )

12

C-12
3 51




37)

38)

39)

40)

- 41) ol Rkl midanuel welind (et st 5 i [omell 23

BUA(09)

w2415l 5 2L arRulls o g2l B 9

seraly |
A) 3 (B) -uel

(C) usls | (D) suslast

2yggrioflovend] srRulAL oerye W el [seu wis s2.
(A) @isdd drs A9l Esl(2n) wgastl 219d ¢ .
B) i B8l [cllas Irg Heil L 8.

() operdnlell s udat Bout i ©.

(D) wistuaril 215 2N 2l AL usius S 209d ¢ ©.

a sy-{lRs Al 2A@efsin £2 52 9.

(A) Adeisd-l- (B) =il

(C) el (D) ABA

Uy 8 sl [Bstt oug 26t e 58 9.

(A) Mzaael (B) oLeisiyl 2AeR
(C) o8t . (D) sleyfen

s A i, etz yell et g1 Qe 208 ©.
(A) 21 B 7
(C) 5 (D) 14

13

C-12
2% s\

(P.T.0.)



42)

43)

44)

45)

46)

BUA(09)

AN [l 32 12 [sey g s

CUTE

X - (et o129 9.

Y - ciedl ypll 18 U2 cgs i g ¢E i 8.

(A) XUR@AY Wi 8. (B) XuAY A vlal 8.
(C) Y UA2AAX W 8, (D) X 2tlY il Al 9,

o S WS AsNAA syell A3 s S ?
(A) CCC (B) AUG
(C) UAG (D) UGG

£4L <UE 2% 53 © & welledl Bgoret Yol w4Rtey il ezl 2

=~ i

O 9
(A)  WHAdIAIAE (B) Gespuniglens

(C) =uulaeus (D) Sesy-HULE

ampR o¢ellet ............ HZ v syl BRI O,

ARty YRS gRL Geut [l WA w2 urll Qsey
WRHE L.

(A)  q HeMiae] Al 2@y siNA 2Rl ol 8.

(B) o dlaw b 2epll Goum i 6.

(©) Al Crzl WA 591 2e3 di B,

(D) (ARl sl uBd 2e3yu weAinlL wwdl wael =@y
ANICINCER RS

14

C-12
Ry &1




47)

48)

49)

50)

BUA(09)

a3 cteelle] Hhegl crRuAnl YPSEOHL cen, AR RN
8. i ‘

(A) 100 mg. 53¢l 94§ (B) 0.1%l1mg.
(C) 1aﬂlo|mg. (D) 20 2l 40 mg.

el €2 L'ch}! R e vl (el g2t) iR Sl
[Rr »iBist (¢Resen)ul 2udel &. 21t dlei vl g5l Geurt
s 8.

(A) ol SroreiBA
(C) sylAuaL <l A

(B) sl A ld
(D) ods A

a2 X 2R Y 3 g B 9
Y
Wb IG | X
2l .
AfBy2A2{lA - 1
ARl 1T
(A) X -3 B) X - 2ARAwSlA

Y - 2eslReriA
(C) X - il
Y - Syl

Y - wilyiledl sy
(D) X -3
Y - 2A[ArlizradlHioy

et SR 12 2 Qarriiall Rl Fsed wie s
[Qenn |

X = ﬂ@ﬂ-{l ciggsl Wkl dgsl YR 25 9.

Y = goen el 22 0l s B,

N | - e s
7 = 254 3 Wil ozl S weL Wi A1 sl L

|
(A) X, Y P Z Al 2l ©.
(B) XY Wizl & 24 Z w3, 8.
(C) X2 Z Wi 2 Y W ©.

(D) X@AY w2 Z i ©.

15

C-12
% s

(P.T.0.



056(G)

(MARCH, 2019)

SCIENCE STREAM
(CLASS - XII) _ b
(Part - B) .
Time : 2 Hours] | [Maximum Marks : 50 e
YUl ' L

1) e Ul dY saduid gaag,

2) U AWl eEB gL Rewt 8 A ga 19l 18 usll 2l B,
3) e« v sl REvad 8. aidks Rsedl wuda 8.

4) -l vl cuyetl 2is de el suld 8.

5)  «dl [Qewsl Adl widl W @i,

6) AL el sHUL vl L
[Qewt - A
AR 2a 1o 8 el et e wudl Gor 2l € w2 94QL B, [16]
N 4
1) usil el el 200, ousky 244 sisdhul a2l s,
“.U‘('

2) G gl el 2 RABad sl el AUt =L azgll srguel.

3) sty 2 sl AARIRMANAU] dsladl 4 YEL duil,
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This Question Paper contains 20 printed pages.
(Part- A & Part - B)

SI.No.

(CLASS - XII)
Part-A : Time: 1 Hour/Marks : 50

Part - B: Time : 2 Hours / Marks : 50
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Set No. of Question Paper,
(MARCH, 2019) circle against which is to be
’ darken in OMR sheet.
SCIENCE STREAM

(Part - A)
Time : 1 Hour|] [Maximum Marks : 50
Instructions : |
1) There aré 50 objective type (M.C.Q.) questions in Part - A and all questions

are compulsory.

The questions are serially numbered from 1 to 50 and each carries 1 mark.

2)

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @ of the correct answer with ball-_pen.

5) Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6) Set No. of Question Paper printed on the upper-most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7)  Students may use a Calculator and log-table, if necessary.

Rough Work

1) Current of ; Hz frequency is passing through an A.C. circuiyf
having series combination of resistance R = 100 0 and inductor
L = | H, then phase difference between voltage and current is
(A) 45° ' (B) 60°
(C) 30° (D) 90°

1 c-11 (PT.0.)
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2)

3)

4)

5)

PRA(09)

For voice communication, cellular phones use which band of
electromagnetic spectrum?

(A) LF (B) HF
(C) VHF (D) UHF

The maximum value of [ in an electromagnetic wave is equal

to 1.8 Vm™. Thus the maximum value of B is
(A 6x10°T
(B) 3x10%T
(C) 6x10°T

(D) 2x1070T

For a radiation of 6 GHz passing through air, the wave number
(number of waves) per 1 m length is (1 GHz = 10°
Hz).

(A) 5
(B) 3
(C) 20

(D) 30

Detailed information can be obtained by the Oil Immersion
objective of a microscope because the objective has

(A) greater value of resolution
(B) Large value of magnification
(C) large diameter

(D) smaller value of resolution

C-11
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i
The distance between two slits in Young's experiment is
(0.2 mm. If the wavelength of light used is 5000A, the angular

position of 3% bright fringe from the central bright fringe is
rad|

(A) 0.75.
(B) 0.075
(C) 0.0075

(D) 0.057

To determine the position of a point like object precisely,
light should be used.

(A) long wavelength
|

(B) polatized

(©

short wavelength

|
intense

(D)

The ratio!of resolving power of telescope, when lights of
wavelengths 5000 A and 4000 A are used, is ‘

(A) 5:zﬁ
(B) 16: 25
C) 4:5

M) 9:1

C-11
Rough Work
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9)

10)

11)

12)

PRA(09)

If the potential energy of the electron in the hydrogen atom is

2
—e
then what is its kinetic energy?
dre,r’ Y

e’ —e’
(A) 8re,r (B) dre r
—e? e’
(©) 8me,r (D) dre r

What is the angular momentum of an electron of Li - atom in
n =35 orbit?

(A) 6.625 x10° Js (B) 5.27 x 10°* Js
(C) 1.325 x10* Js (D) 16.56 x10 Js

A hydrogen atom absorbs 12.1 eV of energy and gets excited
to higher energy level. How many photons are emitted during
downward transition. Assume during each downward transition,
one photon is emitted. '

(A) 2or3 (B) lor3
(C) lor2 " | (D) 5 or more

Which are the isotone, isobar and isotope nuclei respectively

of 2C from among '{C,'IB,' N ?
| : ‘
(A) "B,"C,N
B) CIN7B
(C) UN,IB,iC!

@ 4CBEN
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13)

14)

15)

PRA(09)

[
Half - life of a radioactive element is 5 min. At the end of 20
min. its % quantity will be disintegrated.

(A) 75 i
(B) 93.75

(C) 25

(D) 6.25,

Which on¢ of the following is true for the relative ionizing
power of o, B, and v?

(A) Itis maximum for B particle
(B) Itis maximum for o particle
(C) Itis rinaximum for y radiation
(D) Itisequal fora, fpandy

The half - life of a radioactive element is 2 hr and that of the
other is 4 hr. Their initial activities are equal. After 4 hr what
will be the ratio of their activities?

(A) 1:3
(B) 1:4
(C) 1:2

M) 1:1

C-11
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16)

17)

18)

PRA(09)

When will the conductivity of a Ge semiconductor decrease?
(A) Onadding acceptor impurity

(B) Onadding donor impurity

(C) Onmaking UV light incident

(D) On decreasing the temperature

Given figure is the symbol of which logic gate?

AO——

B O——

(A) NOR gate
(B) AND gate
(C) NAND gate

(D) OR gate

For an N-P-N transistor in common base circuit about 7% of
the electron entering the base from the emitter recombines
with the hole. This results in the collector current being 18.6
mA. Calculate the emitter current.

(A) 0.020A
(B) 20(A
(€) 2mA

(D) 2A

C-11
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19) V_isthe maximum voltage between the ends of the secondary Rough Work
terminal oif a transformer used in a half wave rectifier. When
the P-N junction diode is reverse biased, what will be the

potential difference between the two ends of the diode?

Vo

2

(B) Zero

© v,

(D) 2V_

20) The emitter junction of the CE transistor amplifier is
biased, while the collector junction is biased.

\ (A) forward, forward

(B) reverse, forward

(C) reverse, reverse

[ . (D) fomifard, reverse

21) o = 0.99 for a CE transistor amplifier circuit. The input
resistance is equal to 1 KO and the load resistance is equal to
. 100 KQ. The voltage gain of the circuit is

(A) 990.
(B) 9.9
(C) 9900

(D) 99000

PRA(09) 7 (P.T.0)



22)

23)

24)

25)

PRA(09)

The liquid drop of mass ‘m’ has a charge ‘q’. What should be
the magnitude of electric field E to balance this drop?

AE Binﬁ
@ — ®)

mq
(© mgq ©)

The number of electric field lines emerged out from 1mC

charge is (e, =8.85x107?MKS)

. (A) 113 x 108

B) 9 x 10°
(C) 1.13 x 10"
(D) 9x10°

For a uniform electric field E = E o (j) , if the electric potential

at y = 0 is zero, then the value of electric potential at y =+
will be

(A) -yE, (B) ¥E,

(€) yE, D) —yE,

Energy of a charged capacitor is U. Now it is removed from a
battery and then is connected to another identical uncharged
capacitor in parallel. What will be the energy of each capacitor
now?

3U

) U ®

0 = D) =

© - ® >
8

C-11
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26) Two metallic spheres ofradii R, and R, are charged. Now they|  Rough Work
are brought into contact with each other with a conducting wire
and then are separated. If the electric fields on their surfaces

are E, andiE2 respectively, —E—' =

~ 2
- R] ' R,
A . B
Oy ®) g
i

27) Fora capellcitor the distance between two plates is 4x and the
electric ficld between them is E . Now a dielectric slab having
dielectric constant 3 and thickness x is placed between them

in contact with one plate. In this condition what is the p.d.

- between its two plates?
A\ 11E,x
@) 3
L .
[ B 13E,x
~ B —
v c 10E,x
© —*=
| 9E,x
(D) 3

28) A particle having mass 1g and electric charge 10-C travels from
a point A having electric potential 600 V to the point B having
zero potential. What would be the change in its kinetic energy?

(A) —60erg (B) —6x10%erg
(C) 60 erg (D) 6 x 10~ erg

PRA(09) 9 | (P.T.0.)



29)

30)

31)

PRA(09)

The unit of conductance of the material of the given conductor
18

(A) volt
volt
(B) ampere
o volt
© metre
ampere
(D) volt

Figure shows a part of closed circuit. If the current ﬂowing
throughitis 2Athen V-V is

2A (V. 2A

Crmmer—— AN 1 MWW ——O

A | B
lg | Lo
2 2

(AY +2V

(B) +3V

(C) -3V

D) -2V

The resistance of a 10m long potentiometer wire is 20 Q. Itis
connected in series with a 3 V battery and 10 Q resistor. The
potential difference between two points separated by distance
0.3 m is equal to

(A) 0.06V
(B) 0.02V
(C) 0.1V
D) 12V

10
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32)

33)

34)

35)

PRA(09)

Two bulbs of 220V and 100W are first connected in parallel
and then in series with a supply of 220V. Total power in both
the cases will be respectively.

(A) 100W, SOW (B) 50W, 100W
(C) 200W, SOW (D) S0W, 200W

Two parallel long thin wires, each carrying current I are kept at
a separation r from each other. Hence the magnitude of force
per unit length of one wire due to the other wire is

pol’ bl
Ay —— B
w5 ® 5

Bl kol
© 2nr (D) 27r?

‘Two concentric rings are kept in the same plane. Number of
turns in both the rings is 20. Their radii are 40 cm and 80 cm
and they carry electric currents of 0.4 Aand 0.6 A respectively,
in mutually opposite directions. The magnitude of the magnetic

field produced at their centre is T.
(A) 2y, (B) 4p,
o 10 b 3
©) 4 Mo (D) Mo

Ataplace a uniform electric field and a uniform magnetic field
are in the upward direction. There an electron moves in the
downward direction, Hence this electron

(A) will bend towards right
(B) will bend towards left
(C) will gain velocity

(D) will lose velocity

11
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36)

37)

38)

39)

PRA(09)

When a charged particle moves in a uniform magnetic field
its kinetic energy

(A) canincrease
(B) remains constant
(C) candecrease

(D) can increase or decrease

For superconductors, |1 =
(A) Zero

(B) Infinite

(C) positive

(D) lnegative

A straight steel wire of length [ has magnetic moment m. If
the wire is bent in the form of a semicircle, what is the new
value of the magnetic dipole moment ?

2m
@w
(B) m
o
© 3

m
® -

For plane mirror, value of magnification m = 1, then its focal
length f=

(A) zero (B) positive
(C) negative (D} infinite
12
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40)

41)

42)

43)

PRA(09)

An object! is placed at a distance of 25 cm on the axis of a
concave mirror having focal length 20 cm. What will be the
lateral magnification of an image?

(A) 4 (B) 2
(€ -4 (D) -2

Depth of a completely filled well is 11 m and refractive index
of water is 1.33. If viewed normally from top, by how much
height would the bottom of the well appear to be shifted up?

(A) 273m B) 1lm

©) 413m . (D) 137m

Which of the following is responsible for glittering of a
diamond? ’

(A) Difti"raction

(B) Intelrference

(C) Total internal reflection
(D) Refraction

A defect of vision in which lines in one plane of an object
appear in focus while those in another plane are out of focus is
called .

(A) distortion
(B) astiigmatism
(C) myopia

(D) hypermetropia

13
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44)

45)

46)

47)

PRA(09)

The uncertainty in position of a particle is same as it’s de
Broglie wavelength, uncertainty in its momentum is

2 n
W 37 ®
Q) — D) &
© 5 o

Which of the following physical quantity has the dimension of
planck constant (h)?

(A) Angular momentum
(B) Force

(C) Energy

(D) Power

If photoelectric effect is not seen with the ultraviolet radiations
in a given metal, photo electrons may be emitied withthe .
(A) radiowaves

(B) infrared waves

(C) X-rays

(D) visible light

In AC generator, induced emfis zero at time t = 0. The induced

T
emf at time — 18
W

(A) fvm | (B) +\/vm.
(C) zero (D) +2V_
14
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48)

49)

y 30)

PRA(09)

A small square loop of wire of side 1 mm is placed inside a
large square loop of wire of side 10 m. The loops are coplanar
and their centres coincide. Find the mutual inductance of the
system. (1, =4m x 107 S.L).

(A) 22x10H

(B) 4J2x107*H

|
(C) 82 x10H

D) 6J2x107"*H

Five pure inductors each of 3H are connected as shown in
figure. The equivalent inductance of this connection between
points A and B is

‘ 3H

o ' AL ' I H 3H

(A) 2H: (B) 1H
(C) 3 HI (D) 9H
|
In an L - C oscillator circuit having a completely charged
capacitor, with the passage of time
(A) The energy of the circuit continuously increases.
(B) The.electric current increases gradually.
(C) The energy of the circuit continuously decreases.
(D) There is a continuous absorption of the electromagnetic

wav:e.

15
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054 (E)
(MARCH, 2019)

SCIENCE STREAM
(CLASS - XII)

N g

(Part - B) X

Time : 2 Hours] [Maximum Marks : 50 -
Instructions :

1) Write in a clear legible handwriting.

2) There are three sections in Part - B of the question paper and total 1 to 18
questions are there.

3) All the questions are compulsory. Internal options are given.
4) The numbers at right side represent the marks of the question.
5) Start new section on new page.

6) Maintain sequence.

7) Students may use a Calculator and log-table, if necessary.

SECTION -A

B Question No. 1 to 8 do as directed. Each question carries 2 marks. [16]

1) Define surface charge density and volume charge density of an electric charge.
Also state its unit.

2)  Derive the expression to find the unknown resistance in the balanced condition
of wheatstone bridge.

OR

A cylindrical wire having 10 O resistance is stretched to increase its length
by 10%. Calculate its new resistance.

___i_(

3)  State and explain Curie’s law for paramagnetic materials and explain saturation
magnetization for paramagnetic materials.

PRA(09) 16



4)

3)

6)

7)

8)

c-11

Calculate the energy of photon in eV for a radiation of wavelength 5000 A
(h=6.625 x 10 Js,c =3 x 10 ms™, e = 1.6 x 10-°C).

| 1
Deduce anequation U = ELIZ for an inductor.

Using P= Vrms I

in an AC circuit.

cos 0, discuss any two special cases for power consumed

OR

In an ideal step - up transformer input voltage is 110 V and current flowing in
the secondary is 10 A. If transformation ratio is 10 then calculate output
voltage and current in primary.

State and prove Brewster’s law.

A modulating signal of frequency 5 KHz and peak voltage of 5 V is used to
modulate a carrier of frequency 10 MHz and peak voltage of 10 V. Determine

a)  Modulation index

b)  Frequency of LSB and USB.

SECTION-B

B Question No. 9 to 14 do as directed. Each question carries 3 marks.

9)

10)

PRA(09)

A charge Q is uniformly distributed on the circumference of a circular ring
of radius a. Find the intensity of electric field at a point at a distance x from
the centre on the axis of the ring.

A capacitor consists of three parallel plates of equal area A. The distance
between them is d, and d,. Dielectric material having permittivity €, and €, is
present between the plates.

a)  Calculate the capacitance of such a system.

b)  Express this capacitance is terms of K and K.,.

[18]

17 (P.T.0.)
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OR

Derive the formula for the electric potential energy of an electric dipole in
an uniform electric field. Discuss its stable and unstable equilibrium state.

11) Tworings X and Y are placed in such a way that their axes are along the X and
Y axes respectively and their centres are at the origin. Both the rings X and Y
have the same radii of 3.14 cm. If the current through X and Yrings are 0.3 A a
and 0.4 A respectively then find the value of the resultant magnetic field at L
the origin. p, =4m x 1077 SL. \

12) Intensity of diffracted light at any point on the screen is given by the formula

: 2
Sln u . . v s, 3
I=1, a , using this formula obtain condition for central maximum,

ndsin® A
—

minima and maxima. Where [, = maximum intensity and o =

OR

In Young’s experiment, the distances between two slits and that between slits
and the screen are 0.05 cm and 1 m, respectively. Find the distance between "
31 bright and 5" dark fringes. Take the wavelength of light equal to S000A.

13) Calculate the atomic number of the element which gives minimum X - ray N
wavelength of 0.1 nm of K - series. R =1.09737 x 10" m™",

14) In a sphere of 10* m radius, radioactive material emits p~ - particles at the
rate of 5 x 107 s'. If 40% of these emitted B~ - particles escape from the
sphere, how long would it take to raise the potential of the sphere from 0 to
16 V? (Take K =9 x 10° SL unit)?’

PRA(09) 18
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SECTION-C

B Question No. 15 to 18 do as directed. Each question carries 4 marks.

15)

16)

17)

18)

PRA(09)

A battery having an emf of 12 volt and an internal resistance of 2 Q is connected
to another battery having an emf of 20 Volt and an internal resistance of 2 O

in such a way that they are opposing each other and the circuit is closed.
Calculate the following.

a) Curre::nt flowing in the circuit.
|
b)  Electrical power in the two batteries.

¢)  Terminal voltage of the two batteries.

d) electric power consumed in the two batteries.

Derive an equation & =1+ ¢ — A for an equilateral prism and using it obtain an
equation for refractive index (n) of material of prism.

Write the differential equation for charge in L-C-R series A.C. circuit and
obtain equation for complex current from it.

Draw the circuit diagram of a full wave rectifier and explain the working of
the circuit.

OR

In a N-P-N transistor about 10'° electrons enter the emitter in 1 ps when it is
connected to a battery. About 2% electrons recombine with the holes in the
base. Calculate the values of I, I, &, and B, (e = 1.6 x 10-? C).

*440

19
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This Question Paper contains 20 prinfed pages. ;
U3 YRl A2 e e+l
(Part-A & Part - B)

S1.No.

; (CLASS - XII)
Part-A : Time: 1 Hour/Marks : 50

Part -B: Time : 2 Hours / Marks : 50

ARl adn OMR alleni

050 (E) ug 3 28 9.

Set No. of Question Paper,
(MARCH, 2019) circle against which is to be
' o darken in OMR sheet.
SCIENCE STREAM

(Part - A)
Time : 1 Hour| _ [Maximum Marks : 50
Instructions : -
1) There are 50 objective type (M.C.Q.) questions in Part - A and all questions

are compulsory.

2) The quéstions are serially numbered from 1 to 50 and each carries 1 mark.

3) Read each question carefully, select proper alternative and answer in the
O.M.R. sheet.

4) The OMR Sheet is given for answering the questions. The answer of each
question is represented by (A) O, (B) O, (C) O, (D) O. Darken the
circle @ of the correct answer with ball-pen.

5) Rough work is to be done in the space provided for this purpose in the Test
Booklet only.

6) Set No. of Question Paper printed on the upper- most right side of the Question
Paper is to be written in the column provided in the OMR sheet.

7}  Use of simple calculator and log table is allowed, if required.

8) Notations used in this question paper have proper meaning. -

1)  The number of binary operations on {1,2} is Rough Work
(A) 8
(B) 16
© 2
(D) 4

MLA (09) 1 C-9 (P.T.O.)



2)

3)

4)

3)

MLA (09)

Functions f:R™—R", f(x)=%", g:R" —)R+,g(x):x%

then (fog) (x) =
(A) x°

1
®) -

© x

M x .

The domain of sin™! is

(A) [0, 1] (B) (-o0,)
(©) [0, 7] - O [-1,1]
(oo (-5 s (-5)

C0Os5| COS —— |+Ssm-| — —

4 4 ——
&) 3 ® 5
C 0 D —l
(©) D) —3

st oz, D
The value of sin l[sm—f] =

ay PF gy -F
(A) 3 B) =3
o E .
© 3 ®)

C-9
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6)

7)

8)

9)

MLA (09)

sec? (tanl'] 3) + cosec? (cot’l 3) =
A) 20 - B) 15
© 13 (D) 25

sin35° | —co0s35°

sin355°  cos55°

(A) 1
®) 0 |
© -1

(D) 2
|

2x 9
A=, and [A|=3, then x = ; xeR

|
(A) 7.5

B) 6 -
() 15‘
D) 12

It AZDCI,)-] _suchthata =0, for i# j,then Ais

(aﬁ # aﬂ),(n >1)

(A} a r|0w matrix
(B) a column matrix
(C) a diagonal matrix

(D) a scalar matrix

C-9
Rough Work
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d si-n’1 x+cos ' x ) _
10) E(e )— ,(x‘<1)
2
A B) 0
N (B)
1 -1 -1
(C) 1_x2 (D) esm x+C0s X
sindx % %0
11) f(x): 9x if f1is continuous for x = 0, then
K, x=0
k=
A —3 B) 3
(A) 5 ( >
+z D .4_1._
(®)] -3 (D) 9
dy
12) Ifx=ar,y=2a, then —-= (120)
A L
(A) p
(B) ¢
(O
(D) a
MLA (09) ~ 4
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14) The derivative of tan ~' x with respect to cot ' x is ,(xeR)

B —=

© (log5)x

1
D) (log5)x*
|

(A) -1 ®) 1
1 1
© 1+ x° (D) 1+ x°
dx
= +C
15 | T
|
2 2 _1
Ay —5(4+3x) ®) —5(4-3%)"
2 L 1
© —5(4-3x) D) Z(4+3x)
|
MLA (09)
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16)

17)

18)

(O

19)

MLA (09)

Slogx _ _4logx

e e
IeBIogx __eZIDgx dx=—+c
(A) &’logx (B) .37
X’ X’
© ™ =

3

Let A and B be two events such that P(A) = 0.4,
P(AUB) = 0.6 and P(B) = p. For which choice of p, A and B
are independent? ‘

1

(A) 3 (B)

b | —

N | o

0 > ©
© 7 (D)

If A and B are two events such that P(A) > 0 and P(B) =1,

then P(%') is_
(a) 1-P(84) ® 1-P(%)

P(A')

P(B) @ 1-P(A)

If parameters of a binomial distribution are » = 5 and
p = 0.30, then the varance 18

(A) 1.05 (B) 1.5

(© 1.40 (D) 1.15

C-9
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20)

21)

; 4
If the probability distribution P(¥)= C{x] 1x=0,1,2,3,4,

then C =

A) © B 1

(A) ; B) 7
4 i

(©) 2

The objective function of an LP problem is
|

(A) a function to be optimized

(B) a constant

(C) an inequality

(D) a quadratic equation

22)

23)

MLA (09)

The corner points of the feasible region determined by the
system of linear constraints are (0, 10), (5,5), (15,15), (5,25).
Let z = px + gy, where p.g > 0. The condition on p and g so
that the maximum of z occurs at both the points (15,15) and

(5.25)is, ..
(A) p=2g

B) p=g

©) g=2p

D) g=i3p

Approximate value of (3])% is

(A) 2.1 - (B) 201

(€) 2.0125 (D) 1.9875
7
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24) The local minimum value of flx) = x* + 4x + 5 is

25)

26)

MLA (09)

(xeR)

(A) 4 (B) 2
O 1 D) -1
Ilog xdx= +C

(A) xlogx—x

(B) xlogx+x

o L

© -

(D) logx—x

[V16-xdx = +C
(A) 3\/16—x2+85in"§~
(B) %\/16—x2+4sin“'§

©) §J16—x2 +8log|x + V16— x*

(D) 5\/16~x2 +4loglx +16—x

4+

C-9
Rough Work



27)

28)

29)

30)

MLA (09)

J-ex(l+smx]dx:
1+cosx
| x
A) e cot—
(A) >

B) e cotx

(C) e tan>
2
\

(D) e? tan hd
2

I(x2 +3x+ 2)exdx =

(A) (x2‘+x+l)ex
®) (x"~x+1)e"
© (¥ +x-1)e"
(D) (le—l)e"

sin’x cos’x dx =

O m—y

(A) 1
< -1,

+C,

+C

(B) 0
(D) =

‘ T T .
The areaenclosed by y = cos x, —5 <X < E and the X-axis

18
(A) 4
< 2

9

B) 1
(D) =

C-9
Rough Work
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31)

32)

33)

34)

MLA (09)

The area bounded by y = 2x — x* and X - axis is

Wi | e

(A)

W | —

(B)

© 1 D) 3

The area bounded by the curves y = [x — 5|, X - axis and the
linessx=0,x=11s

(A)

MI---J

2 5
2

C) 9
(D) 5

(B)

The area enclosed by y = x, y = 1, y = 3 and the Y-axis is

9
(VS ®) 2

€ 4 D)

d dyY
The order and degree of dx{ =g 1+(—y] are

respectively.

(A) 2,3

(B) 3,2

(C} 3, not defined
(D) 2,2

10
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35)

306)

37)

38)

MLA (09)

An Integrating factor of the differential equation

d .
|
(A) x (B)
Q) e - (D) logx

The number of arbitrary constants in the particular solution
of a differential equation of second order is

Ay 2 (B) 4

) 1 D) 0

d
The solufion of the differential equation ZxEy—y:O;

y (1) =2 represents

(A) Parabola (B) Straight line
(C) Circle (D) Ellipse
If 37:(2:,3,\@), then a unit vector in the direction of X
18 |

1343 1343
@A) {27274 S AR

1| 343 133
© |\377% © |33

11
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39) Magnitude of the projection of (-1, 2, -1) on iis

1 1
(A) N (B) 76
© 1 D) -1

40) If A(3,-1),B(2,3) and C(5,1), thenm £ A =

3 3
—cos ' —— cos ' ——
® 77 ®
S 7
(© sin 7 @) =
41) If x-y=0, then X x(¥x¥) = , where |¥|=1
A) X B) xxy
© -¥ D) yxx

42) If A(1,1,2), B(2,3,5), C(1,3,4) and D(0,1,1) are the vertices

of a parallelogram ABCD, then its area is

(A) 2

&

(B)

©

ol

D) 23

MLA (09) | 12
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43) The perpendicular distance from point (-1,2,-2) to plane

3x—-4y+2z+44=01s

? V29
(A) 2429 (B) ES
.. | '
b ©) 29 D) 1
L x=5_y-5_z-2 x _y-3_z+l
44) If the lines =TT d " 3 3 are

perpendicular to each other; then k =
(A) 5 ‘ B) 10
€ -5 (D) 0

45) The equajtion of the line passing through the points (2,2,-3)
~and (1,3,i5) is
-x+l_y—]_z+8
S (A) 2 2 -3

~

x-2 y-2 z+3
-1 ] 8

(B)

|
x+2 y+2 z-3

© =77 8

x—l_y+l_z—8
2 2 3

D)

46) Plane 2x I-l- 3y + 6z— 15 = 0 makes angle of measure

with X-axis.
A ‘
e (A) sin' 3 (B) cos™ —3£
7 7
C Siﬂ%' i D tan-l E
© 7 (D) 2
MLA (09) : 13
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k
47y If = = lies 1n the plane 2x — 4y + z =7, then

48)

49)

©) -7
(D) any value of keR

If axb = @*+ B* + ab + 2 on Z, then 4x3 =
(A) 39

(B) 40
(C) 25

(D) 41

The relation S={(1,1),(2,2),(3,3).(4,4).(5,5)} on {1,2,3,4,5}
is

(A) reflexive only

(B) symmetric only

(C) transistive only

(D) an equivalence relation

50) Functionf:R > R, flx)=5x+7 s

MLA (09)

(A) one - one and onto
(B) one - one but not onto
(C) not one - one but onto

(D) not one - one and not onto

14
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(MARCH, 2019)
SCIENCE STREAM
(CLASS - XIT)

(Part - B)
Time : 2 Hours] [Maximum Marks : 50
Instructions :

1) Write in a clear legible handwriting.

2) There aré three sections in Part - B of the question paper and total 1 to 18
questions are there.

3) All the questions are compulsory. Internal options are given.
4) The numbers at right side represent the marks of the question.
5) Start new section on new page.

6) Maintain sequence.

7)  Useof si|+1ple calculator and log table is allowed, if required.

SECTION-A

B Answer the following 1 to 8 questions as directed in the question. (Each
question carries 2 marks) [16]

1) LetA= {123}, B={1,49},/:A->B,f{x)=x Find f~'and verify /'of=1,,

fof =1,
2 6 4
2)  Without expanding, show that 11 divides | © ©
. 35 2

d .
3)  Find d_i’ from x + y = sin(xy).

MLA (09) | 15 (P.T.0.)



4)

3)

6)

7)

8)

C-9

Let 0(0,0), A(35,0), B(30,10), C(15,25) and D(0,30) be the vertices of the
feastible region of LP problem. Find the maximum and minimum values of
the objective function z = 300 x + 600 y.

Prove that y = ax’, x? + 3y? = b? are orthogonal.

Find the area bounded by the parabola y = x*+ 2, X - axis and the linesx=1
and x=2.

OR

Using Integration, find the area of the region bounded by the line 2y =—x + 8,
X -axisand the linesx=2 and x=4.

Find a, b, ¢ if a(1,3,2) + b(1,-5,6) + ¢(2.1,-2) = (4,10,-8).

OR

Prove that jf(x)dxzz‘[f(tw'—l)dt

=1y

SECTION-B

8 Answer the following 9 to 14 questions as directed in the question. (Each

question carries 3 marks) [18]
9) Provethat
tan(—+—cos ! ]+tan[———co “'EJ 2b
h a

MLA (09)



10) Solve:

x 2 272 g3 7
7 2 -6/+5 4 3|=4 7 =2

543!‘15638—6 -

11) Probability distribution of a random variable X is as follows: '

X=x| 2|-1 [ o | 1| 2
Px) |02 |01 [03 |03 ] o1
Find | |
a)  EX)
b VX):
¢) E(3X+2)

OR

o Three machines A,B,C produée réspectively 50%, 30% and 20% of the total
RS number of !items of a factory. The percentage of defective output of these
machines are 3%,4% and 5% respectively. If an item is selected at random,

find the probability that the item is non-defective.

i

12} Find: .[xv' 2ax—x"dx
! OR

Find : j““}“"dx

cosx

-l '
: 13) Solve:xy(y+ 1)dy=(x"+1)dx
14) If aline makes angles of measures o, p, v, d with the four diagonals of a cube

' 4
prove that cos2a + cos2P + cos2y + c0s2d = "3

- MLA(09) | 17 (P.T.0.)



SECTION-C
B Answer the questions no. 15 to 18 as directed in the question. (Each question
carries 4 marks) [16]
1 1 4
15 A=|1 2 3) provethat A~ 6 A2+ 5 A+ 11T, = 0. Using this matrix

2 -1 3
relation, obtain A~

2

16) Obtain: jm

17) A water tank is in the shape of an inverted cone. The radius of the base is 4m
and the height is 6 m. The tank is being emptied for cleaning at the rate of
3 m*/min find the rate at which the water level will be decreasing, when the
water is 3 m deep. '

OR S

A cylindrical can is to be made to hold 1 / oil. Find its radius and height to
minimize the cost.

x,

' P .2
sin” x ]
18) Provethat: |~——————dx=—=log V2 +1
'(l;smx+005l 2 ( )

X X X

MLA (09) 18
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weH f:R" >R, f(x)=x", g:R+—>R+,g(x)=x% [
(fogre)=___
1

(A) X B) ~
© Yx (D) x
sic' @ wenEg=a . R
Ay [0,1] B) (~oo,»)
€ [0.7) D) [-L1]
[ (-3 (-3))
COS| COS —-—— [+ SIn —— =
4 4))  ————
1 4
(A) 3 (B) 5 :
: 1
€y 0 (D) 3
Y Y/
sin [smTj‘éﬁiq\?ﬂlﬁ%
57 oz
(A) 3 (B) 3
z 2z
(©) 3 (D) 3

sec’ (tan‘1 3) + cosec’ (cot" 3) =
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